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Child Development and Pedagogy

1.	 Although domains of development overlaps with 
each other in certain aspects yet which of the 
following domain of development specifically 
attempts to study the progression of 'feelings' about 
self and others?
(1)	 Moral Development	
(2)	 Language Development
(3)	 Physical Development
(4)	 Emotional Development

2.	 Which of the following Principle of Development 
suggests that 'some specific responses get combined 
in the later process of development to form a whole'?
(1)	 Principle of Continuity
(2)	 Principle of integration
(3)	 Cephalocaudal Principle
(4)	 Proximodistal Principle

3.	 Which of the following factor comes under the 
category of socio-cultural factors having an influence 
on development?
(1)	 School climate
(2)	 Neurological deficits
(3)	 Biological dispositions
(4)	 Genetic makeup

4.	 In accordance to Jean Piaget's theory of cognitive 
development, a teacher should give tasks requiring 
__________ to students in age group 7-11 years for 
working independently.
(1)	 Hypothetical-deductive reasoning
(2)	 Reversible thinking
(3)	 Passive imitation
(4)	 Object permanence

5.	 According to Jean Piaget's theory of cognitive 
development, at which stage do most children 
become capable of solving abstract problems in 
logical fashion?
(1)	 Sensorimotor	 (2)	 Preoperational
(3)	 Concrete operational	 (4)	 Formal operational

6.	 Noori judges other actions based on the argument 
that 'we have some duties towards society and we 
should obey rules for that sake . As per Lawrence 
Kohilberg, what stage of moral reasoning is Noori at 
present?
(1)	 Pre-conventional
(2)	 Conventional
(3)	 Post-conventional
(4)	 Formal-conventional

7.	 A teacher gives assignments which requires students 
to get into discussion with significant others in the 
family. As per Lev Vygotsky's theory, she believes 
that __________ plays a significant role in cognitive 
development of children.
(1)	 imitation	 (2)	 biological maturation
(3)	 hierarchy	 (4)	 social interactions

8.	 In accordance with Lev Vygotsky's ideas, a teacher 
should:
(1)	 avoid giving cues or hints to students in any 

circumstance.
(2)	 discourage students to verbalise their thoughts 

while working on a problem.
(3)	 encourage discussions and debates among 

students.
(4)	 view learning independent to socio-cultural 

context of students.

9.	 Lev Vygotsky believed that higher-order mental 
processes are mediated by __________ .
(1)	 psychological tools	
(2)	 rewards and punishments
(3)	 conditioning
(4)	 memorisation

10.	 As per Howard Gardner's theory, students who are 
good at understanding other's feelings, moods and 
intentions posses higher level of __________ kind of 
intelligence.
(1)	 Interpersonal	 (2)	 Spatial
(3)	 Musical	 (4)	 Intrapersonal

11.	 As per Lev Vygotsky's ideas, which of the following 
statement charactersizes the correct relation between 
language and thought?
(1)	 Language has no role in self-regulation of 

thoughts.
(2)	 Self-directed talk of children represents their 

ego-centricism.
(3)	 Inner-speech of children represents an internal 

plane of verbal thinking.
(4)	 Verbalisation of thoughts hinders children's 

problem-solving skills.

12.	 'Boys are always good in science and girls are always 
good in music', this statement reflects __________ .
(1)	 Gender Equity
(2)	 Gender Parity
(3)	 Gender Identify
(4)	 Gender Stereotype
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13.	 Diversity in terms of socio-cultural context of 
students in a classroom should be __________ .
(1)	 eliminated by dividing students based on their 

context.
(2)	 Ignored and standardised curriculum should be 

practiced.
(3)	 considered as an asset and be utilised in teaching 

a concept.
(4)	 the criteria of labelling the students and 

strengthening stereotypes.
14.	 In order to promote critical thinking among 

students, a teacher should present __________ 
requiring __________ .
(1)	 open-ended questions, divergent thinking.
(2)	 close-ended questions, convergent thinking.
(3)	 problems from real life context, convergent 

thinking.
(4)	 decontextualised scenarios; application of 

declarative knowledge.
15.	 Formative Assessment should be done __________ .

(1)	 using standardised group tests.
(2)	 by special educator and not by regular teacher.
(3)	 regularly in collaboration with students.
(4)	 at the beginning and end of the session only.

16.	 Inclusive education suggests that principles of 
__________ should be practiced to ensure that all 
students achieve their best potential.
(1)	 Equity	 (2)	 Equality
(3)	 Prejudice	 (4)	 Segregation

17.	 Dyspraxia is directly related to difficulties in:
(1)	 Reading of text	
(2)	 Remembering of facts
(3)	 Physical coordination of body parts
(4)	 Manipulation of numbers

18.	 Assertion (A): To ensure inclusion of all students 
multiple modes of representation of information 
should be practised in classroom.

	 Reason (R): Concept of inclusion includes children 
with learning disabilities but does not include 
children with emotional difficulties.

	 Choose the correct option:
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A)
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A)
(3)	 (A) is true but (R) is false
(4)	 Both (A) and (R) are false

19.	 While the condition of Autism varies considerably, 
yet	students with Autism are often good at:
(1)	 maintaining eye contact for long
(2)	 communicating with strangers
(3)	 adjusting with frequent changes in their routine
(4)	 retaining extensive factual information

20.	 An identifying characteristic feature of creative 
children is that:
(1)	 they conform to norms
(2)	 they like to imitate others
(3)	 they are independent in their thinking
(4)	 they have a short attention span

21.	 The correct sequence of presenting ideas to children 
is from _________ to _________ .
(1)	 complex, simple
(2)	 general, specific
(3)	 abstract, concrete
(4)	 symbolic, iconic

22.	 A teacher wants to deepen the understanding and 
memory of knowledge constructed by the students. 
Which of the following strategy will not be effective 
for this purpose?
(1)	 Creating a metaphor.
(2)	 Applying the information to new problems.
(3)	 Acting out the relations between sub-concepts.
(4)	 Mixing irrelevant information with relevant 

information.
23.	 Assertion (A): A teacher should encourage students 

to think about their own thinking processes and 
ways of learning.

	 Reason (R): Metacognition helps in development of 
higher order cognitive skills.

	 Choose the correct option: 
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A)
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A)
(3)	 (A) is true but (R) is false
(4)	 Both (A) and (R) are false

24.	 Karan always considers more than one solution to 
any problem and often comes up with innovative 
solutions.

	 This exemplifies
(1)	 Divergent thinking	
(2)	 Convergent thinking
(3)	 Negative thinking
(4)	 Irrational thinking

25.	 For learning to be effective and meaningful, it is 
important to:
(1)	 establish connections between learning in school 

and life outside school
(2)	 deliver the content by ensuring that students 

don't make attempts to apply that knowledge in 
everyday life.

(3)	 teach concepts in a way that connections between 
different subconcepts are not established

(4)	 focus on reception of knowledge and urge for 
understanding should be minimised

26.	 Classroom climate, pedagogies and assessment 
methods should be chosen in ways that ensure 
promotion of __________ among the students.
(1)	 curiosity	 (2)	 disinterest
(3)	 competition	 (4)	 rote memorisation

27.	 Which of the following is not a correct approach of a 
teacher to deal with errors made by students?
(1)	 Searching for patterns in the errors.
(2)	 Exploring the learning gaps causing errors.
(3)	 Scaffolding the students to rectify errors.
(4)	 Telling the correct answers without discussion 

with students.
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28.	 A teacher should promote _________ and __________ 
among students.
(1)	 entity view of ability, performance-oriented 

goals
(2)	 incremental view of ability, mastery-oriented 

goals
(3)	 entity view of ability, failure-avoidance goals
(4)	 incremental view of ability, failure-accepting 

goals
29.	 Which of the following is correct in context of 

emotion and cognition?
(1)	 High stress enhances problem-solving skills.
(2)	 Sense of joy enhances engagement in discussion.
(3)	 High anxiety improves processing of information.
(4)	 Sense of boredom improves critical thinking.

30.	 Which of the following contributes to the 
development of effective problem-solving skills?

	 (i)	 Convergent thinking
	 (ii)	 Mnemonics
	 (iii)	Comprehension
	 (iv)	Passive imitation

(1)	 (i) and (ii)	 (2)	 (ii) and (iii)
(3)	 (i) and (iii)	 (4)	 (ii) and (iv)

Mathematics 

31.	 Vishal has ten dozen candies. He gave 
1
3  

of these to 

Radha, 
2
5  

of these to Asif and
 

1
12  

of these to Sonu. 

The number of candies left with Vishal is:
(1)	 20	 (2)	 18
(3)	 22	 (4)	 16

32.	 What is the sum of all the factors of 56?
(1)	 64	 (2)	 120
(3)	 63	 (4)	 176

33.	 Which of the following is correct ?

(1)
	

3
5

5
7

>
	

(2)
	

2
5

8
30

=

(3)
	

1
5

1
3

>
	

(4)
	

1
1
3

2
1
6

>

34.	 In which of the following, the numbers are written 
in ascending order ?
(1)	 5.02., 5.022. 5.032, 5.32, 5.201	
(2)	 5.32, 5.201, 5.032, 5.022, 5.02
(3)	 5.02, 5.32, 5.022, 5.201, 5.032	
(4)	 5.02, 5.022, 5.032, 5.201, 5.32

35.	 The sum of the place values of 7 in 75707 is:
(1)	 77007	 (2)	 7077
(3)	 70707	 (4)	 21

36.	 What is the least number which must be subtracted 
from 60078 so that is divisible by 245 ?
(1)	 40	 (2)	 49
(3)	 53	 (4)	 61

37.	 Look at the following units of measuring length :
	 km, mm, m, cm, dm
	 If we arrange them in ascending order, which unit 

will be at fourth place ?
(1)	 cm	 (2)	 dm
(3)	 mm	 (4)	 m

38.	 What is the time 6 hours 35 minutes before 15:20 
hours?
(1)	 9:05 am	 (2)	 8:45 am
(3)	 8:35 am	 (4)	 9:10 am

39.	 Jayanti walks 
3
5  

km from a place P towards east and 

then from there 1
5
7  

km towards west. Where will 

she be now from P ?

(1)
	

1
4
35  

km towards east of P

(2)
	

4
1
35  

km towards west of P

(3)
	

1
4
35  

km towards west of P	

(4)
	

4
1
35  

km towards east of P

40.	 Which one of the following is not correct ?
(1)	 Two and a half dozen = 30	
(2)	 5 litres 50 millilitres = 550 millilitres
(3)	 12 millimetre = 0.1 centimetre	
(4)	 10 paisa = ` 0.10

41.	 Which of the following figures does not have equal 
number of linear and rotational symmetries ?
(1)	 Square	 (2)	 Rectangle
(3)	 Parallelogram	 (4)	 Rhombus

42.	 Rehan makes cubes using paper folding. He makes 
25 cubes of each side 5 cm. Now, he needs a big box 
to keep all these cubes. What should be the volume 
of the big box so that all small cubes can be kept in it 
without leaving any empty space ?
(1)	 15625 cm3	 (2)	 3125 cm3

(3)	 3375 cm3	 (4)	 3552 cm3

43.	 What is the median of the heights given below ?
	 160 cm, 167 cm, 158 cm, 159 cm, 161 cm, 158 cm, 160 

cm, 162 cm, 170 cm
(1)	 161 cm	 (2)	 160 cm
(3)	 160.6 cm	 (4)	 159 cm

44.	 Read the data given in following table and select the 
correct statement :

Game liked by students Number of students

Football 60

Chess 50

Badminton 70

Volleyball 20

(One student likes one game only)
(1)	 The number of students who like Chess is 

more than the number of students who like 
Football.	

(2)	 The number of students who like Badminton 
is less than the number of students who like 
Football.

(3)	 Number of students who like Chess are one-
fourth of the total number of students.	

(4)	 Number of students who like Volleyball are 
1
5  

of 

the total number of students.
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45.	 Which of the following numbers are missing from 
the given pattern :

	 0, 1, 1, 2, 3, 5, 8......., 21, 34,........, 89
(1)	 11, 43	 (2)	 13, 55
(3)	 15, 41	 (4)	 17, 39

46.	 Assessment in mathematics should not focus upon:
(1)	 Identifying learning gaps in conceptual 

understanding of the learners	
(2)	 Planning need-based remedial classes in 

mathematics
(3)	 Providing feedback to the learners	
(4)	 Labelling the learners according to their marks 

in a test
47.	 Which of the following is most important aspect of 

foundational numeracy ?
(1)	 Doing quick and accurate calculations	
(2)	 Developing number sense
(3)	 Grasp of standard algorithms for fundamental 

number operation	
(4)	 Developing the skill of counting

48.	 As per the National Curriculum Framework 2005, 
Which among the following is most appropriate 
with Primary Mathematics curriculum ?
(1)	 It must explicitly incorporate the progression 

that learners make from the concrete to the 
abstract while acquiring concepts.	

(2)	 It must include mainly those topics which have 
application in higher classes.

(3)	 It should introduce algebraic notations and its 
use in solving problems.	

(4)	 It should provide opportunities to the students 
to use various methods of proving theorems.

49.	 A teacher asked a class I student to write 54. The 
student wrote 504. Which of the following is the 
most appropriate strategy to rectify this mistake ?
(1)	 Ask the child to erase zero from the middle 

place.	
(2)	 Mark the answer as wrong and ask the child to 

write 5 and 4.
(3)	 Explain how to write two-digit numbers using 

bundling activity.
(4)	 Ask the student to find out the correct answer 

himself/herself.
50.	 What is the correct sequence for developing the 

concept of area of a rectangle ?
(a)	 Covering the given rectangle with erasers or 

sharpeners and asking the students to count 
them.

(b)	 Measuring the sides of rectangle and calculating 
its area by multiplying length and breadth.

(c)	 Covering surface of the rectangle with square tile 
of side 1 cm and counting the number of tiles.

(1)	 (a), (b) and (c)
(2)	 (a), (c) and (b)
(3)	 (b), (c) and (a)
(4)	 (b), (a) and (c)

51.	 Brief notes that a teacher takes as he/she observes 
children, to document a range of behaviours that 

children depict while doing an activity/task in a 
classroom is an example of:
(1)	 Anecdotal Records	 (2)	 Rubrics
(3)	 Observations	 (4)	 Project

52.	 In teaching mathematical concepts the use of visual 
manipulatives help to move from:
(1)	 Complex to simple concepts	
(2)	 Concrete to abstract concepts
(3)	 Formal to informal algorithms	
(4)	 Abstract to concrete concepts

53.	 Problem-solving strategies in mathematics involve:
(1)	 intuition and experimentation	
(2)	 memorisation and procedural fluency
(3)	 observation and experimentation	
(4)	 reasoning and patterning

54.	 Which of the following is the least appropriate about 
teaching and learning of Lowest Common Multiple 
(LCM) at the primary school level ?
(1)	 It can be indirectly introduced in primary grades 

using activity method	
(2)	 It cannot be taught to children of primary grade
(3)	 There are many every day instances where this 

concept is tacitly used by the children
(4)	 It can be introduced in an interesting manner 

using ICT
55.	 When asked to calculate 5 × 28, a child solves it in 

the following way :
	 5 × 28 = 28 × 5 = (14 × 2) × 5 = 14 × (2 × 5) = 14 

× 10 = 140
	 The child has used:

(a)	 Commutative law	 (b)	 Distributive law
(c)	 Associative law
Choose the correct option:
(1)	 (a) and (c)	 (2)	 (a) and (b)
(3)	 Only (a)	 (4)	 (b) and (c)

56.	 Which of the following activities is most appropriate 
for the development of spatial understanding 
among primary grade learners?
(1)	 Representing numbers on number line	
(2)	 Drawing a map of their homes showing relative 

sizes and position of rooms
(3)	 Measuring the distance between two cities on a 

map	
(4)	 Recalling the names of geometrical figures

57.	 While introducing addition of one digit number, Ms. 
Alka uses concrete objects such as tokens, pencils, 
erasers etc. She provides opportunities to the 
students to manipulative these objects to add single 
digit numbers. According to Bruner, this mode of 
learning is known as:
(1)	 Concrete	 (2)	 Iconic
(3)	 Enactive	 (4)	 Symbolic

58.	 A child gives examples of different shapes from his 
surrounding like ‘Samosa is a triangle’. The child is 
at which level of geometric thinking according to 
Van-Hiele’s theory?
(1)	 Analysis	 (2)	 Axiomatic
(3)	 Deduction	 (4)	 Visualization
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59.	 While solving a subtraction problem, 63 – 29, a 
child says, “I changed 29 into 30 and 63 into 64. So 
I changed the problem to 64 – 30. My answer is 34.” 
What can be said about this child ?
(1)	 The child does not know how to solve 63-29.
(2)	 The child is getting confused with addition and 

subtraction.
(3)	 The child has conceptual understanding of 

subtraction and hence uses an alternate strategy.
(4)	 The child has neither conceptual understanding 

nor the knowledge of standard algorithm of 
subtraction.

60.	 In a mathematics class a child responds that
	 “7 × 0 = 7” and “0 × 7 =7”
	 In the light of above situation, the child

(1)	 is being careless and inattentive in the class
(2)	 needs to be told that multiplication tables start 

from 7 × 1 = 7
(3)	 needs to be given more questions for practice for 

correct computation	
(4)	 is incorrectly extending the properties of 

addition of multiplication problems

Environmental Studies

61.	 Radha goes 2.5 km towards North from her house. 
Now turning to the left she goes 5 km and again 
turns to left and goes 2.5 km. How far she is from 
her house and in which direction ?
(1)	 5 km South from her house	
(2)	 5 km North from her house
(3)	 5 km West from her house	
(4)	 5 km East from her house

62.	 ‘Vally of Flowers’ National Park is located in which 
State ?
(1)	 Uttar Pradesh	 (2)	 Uttarakhand
(3)	 Kerala	 (4)	 Karnataka

63.	 I am a small and skinny chap
	 Sometimes I am brown and
	 sometimes black,
	 Added to hot oil and ghee
	 I spread my fragrance all around me.
	 When I am roasted,
	 Curd and jaljeera are favourite to me.
	 Think and tell me who am I ?
	 Identify the spice mentioned in the above riddle.

(1)	 Turmeric	 (2)	 Cinnamon
(3)	 Cumin	 (4)	 Clove

64.	 Which is the major component of CNG?
(1)	 Ethane	 (2)	 Propane
(3)	 Butane	 (4)	 Methane

65.	 A student boarded a train on 29th September, 2022 
which started from Gandhidham Railway Station 
at 12:30 hours and reached Thiruvananthapuram 
railway station on 1st October, 2022 at 7:00 hours. If 
the distance travelled by the train during this time 
interval is 2296 kilometers, the average speed of the 
train is approximately.
(1)	 58 km/h	 (2)	 55.5 km/h
(3)	 54.0 km/h	 (4)	 53.5 km/h

66.	 Your house is located at X and your school is located 
at Y and there is no straight road between X and 
Y. So, in order to reach the school you first go to A 
which is 60 m due North of X, then go to B which is 
25 m due East of A, then go to C which is 100 m due 
North of B and finally you reach your school which 
is 25 m due West of C. With respect to your school 
the correct direction of your house is :
(1)	 Due North	 (2)	 Due South
(3)	 North-West	 (4)	 South-West

67.	 Select from the following a pair of birds having 
excellent sight and can distinctly see things from a 
distance four times as far as we can.
(1)	 Crow and Owl	
(2)	 Kite and Vulture
(3)	 Indian Robin and Eagle
(4)	 Barbet and Crow

68.	 Select from the following, a pair of diseases caused/
spread by mosquitoes:
(1)	 Malaria and Dengue	
(2)	 Cholera and Chikungunya
(3)	 Cholera and Malaria
(4)	 Chikungunya and Typhoid

69.	 On the map of a city, following scale is mentioned at 
its right bottom Scale 1 cm = 950 metres

	 If on this map the measured distance between any 
two places is 19.2 cm, the actual distance between 
the two places is approximately
(1)	 20 kilometres
(2)	 19.5 kilometres
(3)	 19 kilometres
(4)	 18 kilometres

70.	 A visitor gave the following description of most of 
the houses of rural areas of a state:

  	 "In this area rainfall is very scarce. Weather is 
generally hot and the people live in mud houses. 
The walls of the houses are made thick and are 
plastered with mud. The roofs are made of thorny 
bushes."

	 The state must be
(1)	 Madhya Pradesh	 (2)	 Gujarat
(3)	 Rajasthan	 (4)	 Jharkhand

71.	 "Char Chinari" is a very famous tourist place. This 
place is surrounded by mountains and is located in:
(1)	 Hyderabad	 (2)	 Lucknow
(3)	 Mysore	 (4)	 Srinagar

72.	 Select from the following an animal whose sense 
of hearing is so sharp that it can make out the 
difference between the rustling of leaves and the 
sound of an animal moving on the grass.
(1)	 Sloth	 (2)	 Dog
(3)	 Tiger	 (4)	 Horse

73.	 Which of the following pair is correct?
(1)	 Wheat : Tap Root  
(2)	 Maize : Tap Root
(3)	 Carrot : Tap Root
(4)	 Bamboo : Tap Root
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74.	 Consider the following statements about a tree 
named "Desert Oak":

	 A.	 This tree is found in the deserts of Abu Dhabi.
	 B.	 This tree grows almost as tall as the height of a 

common classroom of an elementary school, i.e., 
about 4 metres.

	 C.	 Its roots go deep down into the ground till they 
reach the water level.

	 D.	 The length of the root of this tree is about 50 
such trees laid down in a line end to end one 
after the other.

	 E.	 This tree has very few leaves.
	 The correct statements are:

(1)	 A, B and C	 (2)	 A, D and E
(3)	 B, C and E	 (4)	 B, D and E

75.	 Select from the following a State/Union Territory 
where people like to eat fish cooked in mustard oil.
(1)	 Kashmir	 (2)	 Goa
(3)	 Lakshadweep	 (4)	 Puducherry

76.	 Anecdotal records are used to:
	 A.	 Identify a child's areas of interest and relationships
	 B.	 Make judgements about a child
	 C.	 Provide solutions to a child in problematic 

situations
	 D.	 Know strengths and weaknesses of a child
	 The correct option is:

(1)	 A and B	 (2)	 B and C
(3)	 A and C	 (4)	 A and D

77.	 Astha asked her class IV learners two short questions 
before starting the chapter on spices. Through this, 
Astha wanted to:
(1)	 check previous knowledge of students
(2)	 identify intelligent students in the class
(3)	 identify learners with good confidence and 

communication skills
(4)	 elicit learners ideas about the topic-spices

78.	 Madhavi took her class for a field trip. After coming 
back she discussed the trip with her students. It may 
be stated as:
(1)	 Assessment of learning
(2)	 Assessment for learning
(3)	 Assessment as learning
(4)	 Assessment while learning

79.	 Effective teaching-learning will take place only if:
(1)	 the teacher conducts it to complete his/her lesson 

plan
(2)	 the teacher conducts it in compliance with school 

orders
(3)	 the teachers transacts lesson plan for activity-

based learning upon peer's directions
(4)	 the activities conducted by the teacher help 

children in constructing knowledge and 
understanding the concepts

80.	 To assess socio-personal qualities of children engaged 
in learning of EVS through group work, the most 
appropriate tool will be:
(1)	 Assignments	 (2)	 Paper-and-Pencil Test
(3)	 Rating Scales	 (4) 	Oral Questions

81.	 As an EVS teacher which of the following factors 
will you consider while planning a group activity for 
your class?

	 A.	 Arouse interest among children

	 B.	 Inclusive in nature
	 C.	 Cost effectiveness
	 D.	 Can only be conducted outdoors
	 Choose the correct option:

(1)	 A, B and C	 (2)	 B, C and D
(3)	 A, C and D	 (4)	 Only A

82.	 Priyanka wants to sensitize her students on 
conservation of trees. Which amongst the following 
will be least effective in attaining the desired 
objective?
(1)	 Encouraging students to plant a tree and take 

care of it.
(2)	 Organizing a role play on forest conservation.
(3)	 Telling the story of 'Chipko Movement' and 

asking questions.
(4)	 Visiting a mill to show storage of logs of wood.

83.	 Identify the student-centred approaches in teaching-
learning of EVS from the following:

	 A.	 Autocratic style
	 B.	 Permissive style
	 C.	 Integrated approach
	 D.	 Process-oriented approach

(1)	 Only A	 (2)	 A and B
(3)	 C and D	 (4)	 B, C and D

84.	 Values are part of our __________ behavioural 
system.
(1)	 Affective	
(2)	 Cognitive
(3)	 Psychomotor	
(4)	 Affective and cognitive both	 	

85.	 The nature of EVS can be best described as:
	 A.	 It integrates several disciplines.
	 B.	 It is child-centred.
	 C.	 It is experiential.
	 D.	 It is teaching-based.

(1)	 A, B and C	 (2)	 B, C and D
(3)	 Only C	 (4)	 Only B

86.	 From the words given below, choose at least 3 words/
options which describe 'Environment'.

	 A.	 Flora and fauna
	 B.	 Biotic and Abiotic
	 C.	 Social and Cultural
	 D.	 Creative and Curious

(1)	 A, B and D	 (2)	 A, B and C
(3)	 B and C	 (4)	 A, C and D

87.	 In EVS teaching-learning process, linking classroom 
experiences with real-life experiences outside 
classroom best implies.
(1)	 going beyond the scope of curriculum
(2)	 going beyond the specific grade
(3)	 going beyond the textbooks
(4)	 going beyond the level of learners

88.	 'Survey and write' has been included in some 
chapters of EVS textbook for grade 5. It aims at:
(1)	 giving opportunities to students to explore and 

learn
(2)	 giving experience to students
(3)	 improving practical skills of students
(4)	 improving general awareness of students

89.	 Which of the following is an effective strategy of 
EVS?
(1)	 Lecture	 (2)	 Practical
(3)	 Role Play	 (4)	 Demonstration
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90.	 The approach of teaching-learning of EVS that uses 
different skills to learn new things is:
(1)	 Conceptual Approach
(2)	 Process Approach
(3)	 Integrated Approach
(4)	 Activity Approach

Language: English

Directions (91-99) : Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.
1.	 We face a public health emergency–and it isn't 

COVID-19. WHO has termed climate change as 
the single biggest health threat facing humanity. As 
our planet experiences global warming, manifest in 
rising temperatures, extreme weather and the loss of 
biodiversity, mirroring symptoms in human health 
are growing. The number of extremely hot days 
worldwide–when the temperature breaches 50°C–
has doubled since the 1980s. Extreme heat waves are 
thrice as common now and their health impacts are 
tremendous–searing heat sweeping across Canada 
and North America in 2021 claimed over 500 lives. 
The World Economic Forum estimates 2,50,000 
annual losses of life worldwide from 2023, with 
intensifying exposure to heat, infectious diseases and 
malnutrition, climate change causing crop failures.

2.	 Importantly, climate changes health impacts are both 
extreme and everyday. Already ten million precious 
lives are lost annually to air pollution, caused by the 
combustion of fossil fuels like coal and diesel, leading 
factors also of the global warming which ails Earth. 
As these fuels cause air quality decline, respiratory 
diseases, which impact 334 million people struggling 
with asthma worldwide, will grow, encompassing 
cardiovascular challenges too. Alongside, our 
planet's precarious health is showing in increased 
floods and droughts–these changes in precipitation 
drive a profusion of pathogen-carrying vectors of 
disease. As we humans plough through the forests 
and water bodies these vectors would normally live 
in, we open more channels for these germs to reach 
us. Such impacts aren't just physiological-in 2020, 
over 51 million people, already struggling with the 
COVID-19 pandemic, were impacted by 84 weather 
disasters. These climate shocks, which literally 
displace people from the Earth they stand on, are 
now driving mental health conditions worldwide. 

3.	 But there are prescriptions for this malaise. Experts 
emphasise, these range from pivotal policy shifts–
the sooner economies opt for renewable energy, 
the better for Earth and us–to personal changes 
like adopting a plant-based diet. We can mitigate 
climate impacts on health. There has never been a 
more pressing reminder that our bodies come from 
nature–by healing Earth, we heal ourselves.

91.	 The world is facing the biggest health threat due to:
(1)	 extreme poverty
(2)	 poor health care
(3)	 climate change
(4)	 increasing population

92.	 According to the World Economic Forum, extreme 
heat waves will:
(1)	 cause severe shortage of water.
(2)	 lead to huge loss of life.
(3)	 result in unmanageable lack of food.
(4)	 unleash move pandemics.

93.	 Air pollution which annually claims millions of lives 
is mainly caused by:
(1)	 burning of bio-mass
(2)	 increasing number of industrial units
(3)	 combustion of fossil fuels
(4)	 hydraulic energy plants

94.	 Which of the following is not correct?
(1)	 The number of extremely hot days has trebled.
(2)	 Vectors normally live in forests and water bodies.
(3)	 Poor air quality will aggravate incidence of 

asthma and heart diseases.
(4)	 Extreme weather conditions are one of the 

important causes of global warming.
95.	 Read the following statements:
	 A.	 Intense exposure to heat can cause malnutrition.
	 B.	 Adopting a plant-based diet can considerably 

reduce climate effects.
(1)	 A is true and B is false
(2)	 B is true and A is false
(3)	 Both A and B are true
(4)	 Both A and B are false

96.	 The word, 'tremendous' in para 1 means the same as:
(1)	 fatal	 (2)	 scary
(3)	 huge	 (4)	 horrendous

97.	 The word opposite in meaning to the word, 'experts' 
as used in para 3 is:
(1)	 ignorant	 (2)	 laymen
(3)	 mediocre	 (4)	 ineligible

98.	 The word, 'extreme' in para 2, line 2 is a/an:
(1)	 Adverb	 (2)	 Noun
(3)	 Preposition	 (4)	 Adjective

99.	 The word 'respiratory' in respiratory diseases 'para 2' 
is used as a/an:
(1)	 Verb	 (2)	 Adverb
(3)	 Noun	 (4)	 Adjective

Directions (100-105) : Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.

Winter is the king of showmen,
Turning tree trumps into snow men
And houses into birthday cakes
And spreading sugar over lakes
Smooth and clean and frosty white,
The world looks good enough to bite.
That's the season to be young,
Catching snowflakes on your tongue!
Snow is snowy when it's snowing.
I'm sorry it's slushy when it's going.

100.	Winter is called the king of showmen because it:
(1)	 fills the people with enthusiasm.
(2)	 is the best of all seasons.
(3)	 creates many delightful figures.
(4)	 makes the old feel young.
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101.	Which of the following activities is mentioned in the 
poem?
(1)	 People running around when it is snowing.
(2)	 People catching snowflakes on tongues.
(3)	 Children throwing snowballs at each other.
(4)	 Children making snowmen and houses with 

snow.
102.	The image of "stumps turning into snowmen" 

appeals to our sense of:
(1)	 smell	 (2)	 touch
(3)	 sight	 (4)	 hearing

103.	The streets look slushy when:
(1)	 dust laden winds begin to blow.
(2)	 dry leaves start falling.
(3)	 the snow starts melting.
(4)	 people start their outdoor activities.

104.	Identify and name the figure of speech used in the 
line, "winter is the king of showmen".
(1)	 Metonymy	 (2)	 Metaphor
(3)	 Personification	 (4)	 Simile

105.	Name the literary device used in "spreading sugar" 
in line number 4.
(1)	 Assonance	 (2)	 Personification
(3)	 Alliteration	 (4)	 Simile

106.	Who said, "a child's brain contains special language 
learning mechanisms at birth"?
(1)	 Chomsky	 (2)	 Skinner
(3)	 Piaget	 (4)	 Vygotsky

107.	When the teacher refers to the rules governing the 
structure and sequence of speech sounds in their 
classes, then he/she emphasizes on:
(1)	 Phonology	 (2)	 Semantics
(3)	 Syntax	 (4)	 Morphology

108.	Language is just one aspect of a child's overall 
intellectual development. This statement is directly 
associated with:
(1)	 Chomsky	 (2)	 Skinner
(3)	 Piaget	 (4)	 Vygotsky

109.	Find the correct sequence while using imitation 
method.
(1)	 Perception–Imitation–Feedback–Drill
(2)	 Perception–Imitation–Drill–Feedback
(3)	 Perception–Drill–Imitation–Feedback
(4)	 Perception–Feedback–Drill–Imitation

110.	Speaking is the function of:
(1)	 Visual sense	 (2)	 Lingual sense
(3)	 Audio sense	 (4)	 Touch sense

111.	The concept of Universal Grammar is associated 
with:
(1)	 Skinner	 (2)	 Piaget
(3)	 Chomsky	 (4)	 Vygotsky

112.	In the classroom a teacher is focusing over phonemes 
and different structures to be mastered by the 
learners. Here the teacher is influenced by:
(1)	 Functional Approach	 (2)	 Cognitive Approach
(3)	 Structural Approach	 (4)	 Lexical Approach

113.	When children transition from word-gesture 
combinations to jointly two words i.e. 'mommy shoe', 
'go car', 'more cookies', etc., this is an example of:
(1)	 Telegraphic speech	 (2)	 Cooing
(3)	 Babbling	 (4)	 Crying

114.	Which of the following initiative helps students to 
learn about the remarkable unity of most of the 
major Indian languages?
(1)	 Swachh Bharat Abhiyan
(2)	 Ek Bharat Shreshtha Bharat
(3)	 Sarva Shiksha Abhiyan
(4)	 Digital India Campaign

115.	Which one of the following is considered as the 
encoder?
(1)	 Sender	 (2)	 Signal
(3)	 Channel	 (4)	 Receiver

116.	Every individual has some feelings, emotions, 
ideas and he/she wants to give an outlet to those 
experiences of life. By using a language, the 
individual is able to express his views. Which 
function of language is involved in this situation?
(1)	 Expressive	 (2)	 Informative
(3)	 Interactive	 (4)	 Preservation

117.	Which one of the following technique cannot be 
used to teach language pronounciation?
(1)	 Singing songs	 (2)	 Reciting poems
(3)	 Reading aloud	 (4)	 Writing stories

118.	When infants repeat consonant-vowel combinations, 
often in long strings such as 'bababababa' and 
'nananananana', this is an example of:
(1)	 Cooing	 (2)	 Babbling
(3)	 Crying	 (4)	 Movement

119.	Language learning is simply a matter of stimulus-
response association acquired largely through 
pattern practice, mimicry and memorization. This 
statement is associated with:
(1)	 Behaviourist's theory	 (2)	 Nativist perspective
(2)	 Cognitivist theory	 (4)	 Constructivist theory

120.	Which of the following activity is not appropriate for  
developing reading skill?
(1)	 Reading aloud	 (2)	 Scanning a text
(3)	 Reading for inference	 (4)	 Use of abbreviation

Language: Hindi

funsZ'k (121-129): fuEufyf[kr x|ka'k dks i<+dj iwNs x, iz'uksa ds 
lgh@lcls mi;qDr mÙkj okys fodYi dks pqfu,A

euq"; ,d lkekftd izk.kh gSA og lnSo viuh bPNkiwfrZ esa yxk jgrk 
gSA exj bPNk,¡ dHkh iw.kZ ugha gksrh gSaA ,d bPNk dh iwfrZ gksrh gS] rks 
nwljh tUe ys ysrh gSA bl izdkj bPNkvksa dk vuorj Øe pyrk jgrk 
gSA ;gh bPNk,¡ gh euq"; ds nq[k dk dkj.k gksrh gSA ;fn gesa lPpk lq[k 
ikuk gS] rks viuh bPNkvksa dk neu djuk gksxkA Hkkjrh; euhf"k;ksa us 
dgk Fkkµthou esa lQyrk dh izkfIr ds fy, ftu xq.kksa dks vko';'d 
ekuk tkrk gS] muesa larks"k dk LFkku vR;ar egÙoiw.kZ gSA Hkkjr ds ½f"k;ksa 
us yksHk dks ekuo dk 'k=q dgk gSA dke] Øks/k] yksHk vkSj eksg dks thou 
ds fouk'k dk }kj ekuk tkrk gSA larks"k }kjk yksHk ls eqfDr feyrh gSA 
larks"k ds ekxZ ij pydj gh O;fDr egkiq#"k cu ldrk gSA
121.	euq"; fdl dk;Z esa yxk jgrk gS \

(1)	 {kfriwfrZ	 (2)	 bPNkiwfrZ
(3)	 mís';iwfrZ	 (4)	 [kkukiwfrZ
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122.	bPNk,¡ dHkh iwjh ugha gksrh gSa] D;kasfd%

(1)	 bPNk,¡ dHkh iwjh ugha gks ldrh gSaA

(2)	 ,d ds ckn ,d ubZ bPNk,¡ tUe ysrh gSa

(3)	 bPNk,¡ vej gSa] mudh iwfrZ laHko ugha gSA	

(4)	 fdlh Hkh bPNk dks iwjk ugha fd;k tk ldrk gSA

123.	fuEufyf[kr esa ls dkSu&lk thou ds fouk'k dk dkj.k ugha gS \
(1)	 Øks/k	 (2)	 eksg

(3)	 yksHk	 (4)	 larks"k

124.	x|ka'k ds vuqlkj euq"; dk nq'eu dkSu gS \

(1)	 Øks/k	 (2)	 oSjkX;
(3)	 uSjk';	 (4)	 ykyp

125.	x|ka'k ds vuqlkj os gh euq"; egku  cu ldrs gSa] tks%

(1)	 ifjJe ds cy ij lQyrk izkIr djrs gSaA	

(2)	 viuh jkg Lo;a pqurs gSaA

(3)	 tks izR;sd fLFkfr esa larq"V jgrs gSaA	

(4)	 tks vius HkkX; dk Lo;a fuekZ.k djrs gSaA

126.	^eqfDr* dk foykse 'kCn gS%

(1)	 oanu	 (2)	 ca/ku

(3)	 cnu	 (4)	 fc/kkrk

127.	ßbPNkÞ esa bd izR;; yxkus ij cusxk%

(1)	 bfPNd	 (2)	 ,sfPNd

(3)	 bZfPNd	 (4)	 ,fPNd

128.	^egkiq#"k* esa lekl gS%

(1)	 vO;;hHkko	 (2)	 rRiq#"k

(3)	 deZ/kkj;	 (4)	 cgqozhfg

129.	lewg ls fHkUu 'kCn gS%

(1)	 Øks/k	 (2)	 yksHk

(3)	 lPpk	 (4)	 lp

funsZ'k (130-135): fuEufyf[kr dkO;ka'k dks i<+dj iwNs x, iz'uksa ds 

lgh@lcls mi;qDr mÙkj okys fodYi dks pqfu,A

	 gS dkSu fo?u ,slk tx esa]

	 fVd lds vkneh ds ex esa \

	 [ke Bksad Bsyrk gS tc uj]

	 ioZr ds tkrs ik¡o m[kM+A

	 ekuo tc tksj yxkrk gS]

	 iRFkj ikuh cu tkrk gSA

	 xq.k cM+s ,d ls ,d iz[kj]

	 gSa fNis ekuoksa ds Hkhrj]

	 esagnh esa tSlh ykyh gks]

	 ofrZdk&chp mft;kyh gks]

	 cÙkh tks ugha tykrk gS]

	 jks'kuh ugha og ikrk gSA

130.	dfork esa ekuo ds fdl xq.k dk mYys[k fd;k x;k gS\

(1)	 ;q¼'khyrk	 (2)	 'kfDroku

(3)	 jks'ku	 (4)	 ekuoh;rk

131.	^iRFkj ikuh cu tkrk gSA* ls rkRi;Z gS%

(1)	 vlaHko dks laHko djuk	 (2)	 iRFkj ls ikuh fudyuk

(3)	 iRFkj dks fi?kyuk	 (4)	 vlaHko dk R;kx djuk

132.	ekuo ds Hkhrj fNis xq.kksa dh rqyuk fdlls dh xbZ gS\
(1)	 esagnh ds iÙkksa ds fNih mft;kyh	
(2)	 esagnh ds iÙkksa esa fNih ykfyek
(3)	 esagnh ds iÙkksa esa fNih gfj;kyh	
(4)	 esagnh ds iÙkksa esa fNih B.Md

133.	ohj euq"; ds lkeus leLr ck/kk,¡%
(1)	 iz[kj gks tkrh gSa	 (2)	 'kkar gks tkrh gSa
(3)	 c<+dj vkrha gSa	 (4)	 pêku cu tkrh gSa

134.	lq[k izkIr djus ds fy,%
(1)	 cÙkh tykuh gksxh	 (2)	 ;q¼ djuk gksxk
(3)	 iRFkj m[kkM+us gksaxs	 (4)	 deZB gksuk gksxk

135.	^ofrZdk* dk vFkZ gS%
(1)	 pDdjnkj jkLrk	 (2)	 nh;s dh ckrh
(3)	 ,d ns'k dk uke	 (4)	 ,d 'kgj dk uke

136.	ßcPps ds efLr"d esa fo'ks"k Hkk"kk vf/kxe ;a= tUe ls gh gksrk gSAÞ 
;g fdlus dgk gS \
(1)	 pkWELdh	 (2)	 fLduj
(3)	 fi;kts	 (4)	 okbxksRldh

137.	d{kk esa oko~G /ofu;ksa dh lajpuk vkSj Øe dks fu;af=r djus okys 
fu;eksa dh ckr dh tk jgh gSA v/;kfidk fdl ckr ij cy ns 
jgh gS\
(1)	 Loj foKku	 (2)	 vFkZ xzke
(3)	 okD; foU;kl	 (4)	 vkÏfr foKku

138.	Hkk"kk cPps ds lexz ckSf¼d fodkl dk flQZ ,d igyw gSA ;g 
dFku lh/ks&lh/ks fdlls lacaf/kr gS\
(1)	 pkWELdh	 (2)	 fLduj
(3)	 fi;kts	 (4)	 okbxksRldh	

139.	vuqdj.k fof/k dk iz;ksx djus ls lacaf/kr dkSu&lk Øe lgh gS \
(1)	 izR;{kcks/k → vuqdj.k → izfriqf"V → fMªy
(2)	 izR;{kcks/k → vuqdj.k → fMªy → izfriqf"V
(3)	 izR;{kcks/k → fMªy → vuqdj.k → izfriqf"V	
(4)	 izR;{kcks/k → izfriqf"V → fMªy → vuqdj.k

140.	okpu (cksyuk) fdldk izdk;Z gS\
(1)	 n`'; bfUæ;	 (2)	 Hkkf"kd bfUæ;
(3)	 Jo.k bfUæ;	 (4)	 Li'kZ bfUæ;

141.	lkoZHkkSfed O;kdj.k dh vo/kkj.kk fdlls lEcfU/kr gS \
(1)	 fLduj	 (2)	 fi;kts	
(3)	 pkWELdh	 (4)	 okbxksRldh

142.	v/;kfidk d{kk esa bl ckr ij vf/kd /;ku ns jgh gS fd f'k{kkFkhZ 
/ofuxzke vkSj fofHkUu lajpukvksa dh le> vPNh rjg ls cuk 
ysaA v/;kid fdlls izHkkfor gS \
(1)	 dk;kZRed mikxe	 (2)	 laKkukRed mikxe
(3)	 lajpukRed mikxe	 (4)	 dks'k fo"k;d mikxe

143.	tc cPps 'kCn&gko&Hkko ds la;kstu ds ckn nks 'kCnh; tSls ek¡ 
twrk] nknh lkFk] eSa Hkh] vkfn okD; }kjk vfHkO;Dr djrs gSa] rks 
;g fdldk mnkgj.k gS \
(1)	 nks 'kCnh; laf{kIr Hkk"kk	 (2)	 owGtu
(3)	 ccykuk	 (4)	 jksuk
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144.	fuEufyf[kr esa ls dkSu&lh igy fo|kfFkZ;ksa dks vf/kdka'k eq[; 
Hkkjrh; Hkk"kkvksa dh mYys[kuh; ,drk ls ifjfpr djok,xh\
(1)	 LoPN Hkkjr vfHk;ku
(2)	 ,d Hkkjr Js"B Hkkjr
(3)	 loZ f'k{kk vfHk;ku
(4)	 fMthVy bafM;k dSEisu

145.	fuEufyf[kr esa ls dkSu&lk ladsr (owGV) dks cukus okyk (,udksMj) 
gS \
(1)	 izs"kd	 (2)	 ladsr	
(3)	 pSuy (/kkjk)	 (4)	 xzg.kdrkZ

146.	izR;sd O;fDr ds ikl Hkkouk,¡] vuqHkwfr;k¡] fopkj gSa vkSj lHkh 
vius thou ds vuqHkoksa dks vfHkO;Dr djuk pkgrs gSaA Hkk"kk ds 
iz;ksx }kjk O;fDr Lo;a dks vfHkO;Dr djrs gSaA bl fLFkfr esa 
Hkk"kk dk dkSu&lk izdk;Z layXu gS \
(1)	 vfHkO;fDr	 (2)	 lwpukRed
(3)	 var%fØ;kRed	 (4)	 laj{k.k

147.	fuEufyf[kr esa dkSu&lh rduhd Hkk"kk mPpkj.k fl[kkus ds fy, 
iz;qDr ugha dh tk ldrh gS \
(1)	 xhr xkuk	 (2)	 dfork ikB
(3)	 lLoj iBu	 (4)	 dgkuh fy[kuk

148.	tc f'k'kq O;atu&Loj ds feJ.k dh yEch rku esa Lo;a dks 
vfHkO;Dr djrs gSa] tSls fdµ^ck ck ck ck ck* ;k ^uk uk uk u 
uk* ··

	 ;g fdldk mnkgj.k gS \
(1)	 owGtu	 (2)	 ccykuk
(3)	 jksuk	 (4)	 xfr

149.	Hkk"kk vf/kxe lkekU;r% míhiu&izfrfØ;k laca/k dk fo"k; gS ftls 
izfr:i vH;kl] vuqdj.k vkSj daBLFkhdj.k }kjk vftZr fd;k 
tkrk gSA ;g dFku fdlls lEcfU/kr gS \
(1)	 O;ogkjoknh fl¼kar	 (2)	 izÏfroknh fl¼kar
(3)	 laKkukRed fl¼kar	 (4)	 jpukRed fl¼kar

150.	fuEufyf[kr esa ls dkSu&lh xfrfof/k iBu dkS'ky fodflr djus 
ds fy, mi;qDr ugha gS\
(1)	 lLoj iBu	
(2)	 ckjhdh ls iBu
(3)	 fu"d"kZ fudkyus ds fy, iBu
(4)	 laf{kIr :i dk iz;ksx
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CTET Solved Paper 
(Answers with Explanation)

Child Development and 
Pedagogy

1.	 Option (4) is correct.
Explanation: The domain of 
development that specifically 
attempts to study the progression 
of 'feelings' about self and others 
is (4) Emotional Development. 
Emotional development focuses 
on understanding and managing 
emotions, as well as developing 
empathy and forming relationships 
with others. It involves the growth 
of emotional awareness, self-
regulation, and social skills. This 
domain explores how individuals 
perceive, express, and interpret 
emotions, both in themselves and in 
others, throughout different stages 
of life.

2.	 Option (2) is correct.
Explanation: The principle of 
development that suggests that 
"some specific responses get 
combined in the later process of 
development to form a whole" is (2) 
Principle of Integration. The Principle 
of Integration states that various 
individual abilities and behaviors 
become combined and coordinated 
over time to form more complex 
and integrated skills. It emphasizes 
the idea that development involves 
the organization and synthesis of 
different components or responses 
into more comprehensive and 
unified structures. This principle 
highlights how different aspects 
of development, such as cognitive, 
motor, and social-emotional skills, 
come together to create a more 
holistic and functional whole.

3.	 Option (1) is correct.
Explanation: The factor that comes 
under the category of socio-cultural 
factors having an influence on 
development is (1) School climate. 
Socio-cultural factors refer to the 
social and cultural environment 
in which an individual grows and 
develops. These factors include 
social norms, cultural values, family 
dynamics, educational systems, 
and community influences. School 
climate specifically pertains to the 
social and emotional environment 
within a school, including factors 
such as school policies, teacher-
student relationships, peer 
interactions, and the overall 
atmosphere. School climate can 

have a significant impact on a child's 
social, emotional, and academic 
development, shaping their 
attitudes, behaviors, and overall 
well-being.

4.	 Option (3) is correct.
Explanation: According to Jean 
Piaget's cognitive development 
theory, tasks involving  
Hypothetical-deductive reasoning 
are suitable for independent work 
by students aged 7-11. This stage, 
known as concrete operational, sees 
children's cognitive abilities expand. 
They begin to think logically about 
concrete situations, solve problems 
systematically, and form hypotheses. 
Tasks encouraging hypothetical-
deductive reasoning might include 
puzzles requiring logical deduction, 
science experiments with predicted 
outcomes, or story scenarios 
prompting them to draw conclusions 
based on given information. This 
helps nurture their ability to think 
beyond immediate realities and 
consider hypothetical situations—
an essential skill in their cognitive 
growth.

5.	 Option (4) is correct.
Explanation: According to Jean 
Piaget's theory of cognitive 
development, children become 
capable of solving abstract problems 
in a logical fashion at the (4) Formal 
operational stage.
The formal operational stage is the 
fourth and final stage in Piaget's 
theory, typically occurring from 
adolescence onwards. During 
this stage, individuals develop 
the ability to think abstractly, 
reason deductively, and engage in 
hypothetical and logical thinking. 
They can consider multiple 
variables and perspectives when 
solving problems, use systematic 
and scientific reasoning, and think 
about possibilities and hypothetical 
situations.
In the formal operational stage, 
individuals can think beyond 
concrete experiences and apply 
logical reasoning to abstract concepts 
and hypothetical scenarios. They 
are capable of handling complex 
problem-solving tasks that involve 
critical thinking, planning, and 
considering various possibilities and 
outcomes.
The sensorimotor stage (1) is the 
first stage, which spans from birth to 

about 2 years of age, where infants 
primarily understand the world 
through sensory experiences and 
motor actions. The preoperational 
stage (2) occurs roughly from ages 
2 to 7, where children develop 
symbolic thinking but still have 
limitations in logic and perspective-
taking. The concrete operational 
stage (3) occurs from around ages 
7 to 11 and involves more logical 
and operational thinking but is still 
grounded in concrete experiences 
rather than abstract reasoning.

6.	 Option (2) is correct.
Explanation: Based on the 
situation, Noori's moral reasoning 
can be classified as being at the 
(2) Conventional stage according 
to Lawrence Kohlberg's theory of 
moral development.
In the conventional stage, 
individuals base their moral 
judgments on societal norms, 
expectations, and the desire to 
maintain social order. Noori's 
argument that "we have some duties 
towards society and we should obey 
rules for that sake" aligns with this 
stage. Conventional moral reasoning 
emphasizes conformity to social 
norms and laws as a way to ensure 
social harmony and uphold the 
functioning of society. Individuals 
at this stage typically strive to follow 
rules and meet the expectations of 
others, as well as seek approval from 
authority figures.
In contrast, the pre-conventional 
stage (1) is characterized by a 
focus on self-interest and personal 
rewards or punishments, while the 
post-conventional stage (3) involves 
the development of a personal moral 
code based on abstract principles 
of justice and fairness. The term 
"formal-conventional" (4) is not 
a recognized stage in Kohlberg's 
theory.

7.	 Option (4) is correct.
Explanation: As per Lev Vygotsky's 
theory, the teacher believes that 
social interactions play a significant 
role in the cognitive development 
of children. Therefore, the correct 
option is (4) social interactions.
Vygotsky's sociocultural theory 
emphasizes the importance of social 
interactions, particularly with more 
knowledgeable others, in shaping 
cognitive development. According 
to Vygotsky, learning and cognitive 
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development occur within a social 
and cultural context. Children 
learn and acquire new knowledge 
and skills through interactions and 
collaborations with others, such as 
parents, teachers, and peers.
In the scenario mentioned, the 
teacher recognizes the value of 
involving significant others in the 
family, such as parents or siblings, 
in the students' learning process. 
By engaging in discussions with 
family members, the students 
have the opportunity to interact 
with individuals who may possess 
more knowledge and experience, 
allowing for the co-construction of 
understanding and the development 
of higher-order thinking skills.
While imitation (1) and biological 
maturation (2) do play a role in 
development, they are not the 
primary focus of Vygotsky's theory. 
Vygotsky emphasized the social 
and cultural influences on cognitive 
development, and how language, 
tools, and social interactions shape 
learning and thinking processes. 
The term "hierarchy" (3) does not 
accurately reflect Vygotsky's theory 
and is not directly related to the 
teacher's belief about the role of 
social interactions in cognitive 
development.

8.	 Option (3) is correct.
Explanation: In accordance with Lev 
Vygotsky's ideas, a teacher should (3) 
encourage discussions and debates 
among students.
Vygotsky's sociocultural theory 
emphasizes the importance of 
social interactions and collaborative 
learning in cognitive development. 
According to Vygotsky, learning 
occurs through social interactions 
and conversations with others 
who are more knowledgeable 
or experienced. By engaging in 
discussions and debates, students 
have the opportunity to share their 
ideas, perspectives, and knowledge 
with their peers, which can promote 
higher-level thinking, problem-
solving skills, and the development 
of new understandings.
Encouraging discussions and 
debates among students allows 
them to engage in a process called 
"scaffolding." Scaffolding refers to 
the support provided by a more 
knowledgeable person to help 
learners develop their skills and 
understanding. In this context, 
the teacher can act as a facilitator, 
guiding and encouraging students 
to explore different viewpoints, 
analyze arguments, and construct 
their own knowledge through 
dialogue and collaborative problem-
solving.

The other options (1), (2), and (4) 
are not aligned with Vygotsky's 
ideas. Vygotsky believed that 
providing clues or hints (1) can 
be helpful for students as they 
scaffold their learning. Verbalizing 
thoughts (2) is actually encouraged 
in Vygotsky's theory as it helps 
students externalize their thinking 
and engage in self-regulation and 
metacognition. Lastly, Vygotsky's 
theory explicitly highlights the 
importance of socio-cultural 
context in learning, suggesting that 
learning is deeply influenced by 
the cultural and social environment 
in which it takes place. Therefore, 
a teacher should not view learning 
as independent of the socio-cultural 
context of students (4).

9.	 Option (1) is correct.
Explanation: Lev Vygotsky believed 
that higher-order mental processes 
are mediated by (1) psychological 
tools.
According to Vygotsky's 
sociocultural theory, psychological 
tools are cultural artifacts, symbols, 
and instruments that mediate 
cognitive processes and facilitate 
higher-order thinking. These tools 
include language, writing systems, 
calculators, diagrams, maps, and 
other external resources that 
individuals use to think, solve 
problems, and communicate.
Psychological tools serve as 
mediators between an individual's 
current level of development 
and the desired or higher level of 
development. They provide support 
and assistance to individuals as 
they engage in cognitive tasks and 
help bridge the gap between what 
individuals can do independently 
and what they can accomplish with 
the aid of these tools.
Language, in particular, is 
considered a primary psychological 
tool. It not only serves as a means 
of communication but also plays 
a crucial role in internal thought 
processes. Language allows 
individuals to communicate with 
others, regulate their own behavior, 
and engage in higher-order 
cognitive functions such as abstract 
thinking, problem-solving, and self-
reflection.
The other options, rewards and 
punishments (2), conditioning 
(3), and memorization (4), are not 
central to Vygotsky's theory of 
cognitive development and do not 
capture the concept of mediation 
through psychological tools.

10.	 Option (1) is correct.
Explanation: According to Howard 
Gardner's theory of multiple 
intelligences, students who are good 
at understanding other's feelings, 

moods, and intentions possess a 
higher level of the (1) Interpersonal 
intelligence.
Gardner proposed that there 
are multiple intelligences, each 
representing different ways in 
which individuals can excel and 
demonstrate their cognitive abilities. 
Interpersonal intelligence refers to 
the ability to understand and interact 
effectively with others, including 
the capacity to perceive and discern 
the emotions, motivations, and 
intentions of others. People with 
high interpersonal intelligence 
are often skilled at empathy, 
communication, social awareness, 
and building relationships.
Individuals with strong interpersonal 
intelligence are typically sensitive to 
the emotions and needs of others. 
They are skilled at interpreting 
nonverbal cues, understanding 
social dynamics, and effectively 
communicating and collaborating 
with others. They often excel in 
areas such as counseling, teaching, 
leadership, and teamwork.
Spatial intelligence (2) refers to the 
ability to perceive and manipulate 
visual-spatial information, 
such as mental imagery, spatial 
relationships, and navigation. 
Musical intelligence (3) relates 
to musical skills, including pitch 
perception, rhythm, composition, 
and appreciation of musical 
patterns. Intrapersonal intelligence 
(4) is focused on self-awareness, 
self-reflection, and the ability to 
understand one's own emotions, 
thoughts, and motivations.
In this case, the description aligns 
with the characteristics associated 
with the interpersonal intelligence, 
indicating that individuals who 
are adept at understanding 
others' feelings, moods, and 
intentions possess a higher level of 
interpersonal intelligence.

11.	 Option (3) is correct.
Explanation: According to Lev 
Vygotsky's ideas, the correct 
statement that characterizes the 
relation between language and 
thought is (3) Inner-speech of 
children represents an internal 
plane of verbal thinking.
Vygotsky proposed that language 
and thought are interconnected 
and that they develop in a mutually 
supportive manner. According to his 
sociocultural theory, inner-speech 
or self-directed talk serves as an 
important function in cognitive 
development. Inner-speech refers 
to the use of language to guide and 
regulate one's own thinking and 
problem-solving processes.
Inner-speech starts as external 
speech, where children talk aloud 
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as they engage in activities or solve 
problems. Over time, it gradually 
becomes internalized, meaning it is 
transformed into an internal thought 
process. Inner-speech represents an 
internal plane of verbal thinking and 
becomes a tool for self-regulation, 
planning, and guiding one's actions.
Vygotsky argued that inner-speech 
plays a crucial role in helping 
children regulate their thoughts, 
control their behaviors, and solve 
problems more effectively. It serves 
as a means for individuals to 
direct and organize their thinking, 
monitor their actions, and reflect 
on their experiences. By engaging 
in inner-speech, children can guide 
themselves through tasks, strategize, 
and monitor their own progress.
The other options (1), (2), and (4) 
do not align with Vygotsky's ideas. 
Vygotsky emphasized the important 
role of language in cognitive 
development, particularly in self-
regulation, social interactions, and 
problem-solving skills. Language 
plays a crucial role in shaping and 
supporting cognitive processes 
rather than hindering them.

12.	 Option (4) is correct.
Explanation: The statement "Boys 
are always good in science and 
girls are always good in music" 
reflects gender stereotype. It 
implies that certain abilities or 
interests are inherently tied to 
gender, reinforcing traditional and 
often unfounded generalizations 
about the capabilities of boys and 
girls. Gender stereotypes can limit 
individuals' opportunities, reinforce 
inequality, and restrict their choices 
based on societal expectations. It is 
important to recognize that abilities 
and interests are not predetermined 
by gender and that both boys and 
girls can excel in any field they 
choose.

13.	 Option (3) is correct.
Explanation: Diversity in terms of 
socio-cultural context of students in 
a classroom should be considered 
as an asset and utilized in teaching 
a concept.
Diversity in a classroom can bring a 
range of perspectives, experiences, 
and knowledge that can enrich the 
learning environment. Recognizing 
and embracing the socio-cultural 
context of students can create 
a more inclusive and engaging 
classroom atmosphere. It allows 
for the incorporation of diverse 
perspectives and experiences into 
teaching, helping students relate 
to and understand concepts in a 
way that is meaningful to them. By 
leveraging this diversity, educators 
can create a more effective and 

culturally responsive learning 
environment.

14.	 Option (1) is correct.
Explanation: open-ended questions; 
divergent thinking.
To promote critical thinking 
among students, a teacher should 
present open-ended questions 
that encourage students to think 
critically, analyze information, 
and generate multiple possible 
solutions or perspectives. Open-
ended questions do not have a 
single correct answer and require 
students to engage in divergent 
thinking, which involves exploring 
various possibilities and considering 
different viewpoints. This approach 
encourages creativity, problem-
solving skills, and the ability to 
evaluate information critically, 
fostering a deeper understanding of 
the subject matter.

15.	 Option (3) is correct.
Explanation: regularly in 
collaboration with students.
Formative assessment is an ongoing 
process that involves gathering 
information about students' progress 
and understanding throughout their 
learning journey. It is not limited to 
specific points at the beginning or 
end of a session. Instead, formative 
assessment should be conducted 
regularly and in collaboration with 
students. This means involving 
students in the assessment process, 
providing them with feedback, and 
engaging them in self-assessment 
and reflection.
By conducting formative assessment 
regularly and involving students, 
teachers can gain valuable insights 
into students' strengths, areas for 
improvement, and misconceptions. 
This information can then be 
used to adjust teaching strategies, 
provide targeted support, and guide 
instruction effectively. Collaborating 
with students in the assessment 
process also promotes their active 
engagement and ownership of 
their learning, enhancing their 
metacognitive skills and overall 
academic growth.

16.	 Option (1) is correct.
Explanation: Inclusive education 
emphasizes the principle of 
equity, which means ensuring 
that all students have access to 
the resources, opportunities, and 
support they need to reach their 
full potential. Equity recognizes that 
students have diverse backgrounds, 
abilities, and learning needs, and it 
aims to address any systemic barriers 
or inequalities that may hinder their 
progress.
In an inclusive education setting, 
equity involves providing 
accommodations, modifications, 

and individualized support to 
meet the unique needs of each 
student. It focuses on removing 
barriers to learning and creating an 
inclusive environment where every 
student feels valued, respected, 
and empowered. By promoting 
equity, inclusive education aims 
to ensure that all students have an 
equal opportunity to succeed and 
thrive academically, socially, and 
emotionally.

17.	 Option (3) is correct.
Explanation: Dyspraxia, also 
known as developmental 
coordination disorder (DCD), is a 
neurodevelopmental disorder that 
affects a person's ability to plan 
and coordinate movements. It is 
characterized by difficulties with 
fine and gross motor skills, balance, 
coordination, and spatial awareness.
Individuals with dyspraxia may 
struggle with activities such as 
tying shoelaces, using cutlery, 
handwriting, playing sports, and 
coordinating movements required 
for tasks like dressing or brushing 
teeth. These challenges are primarily 
related to physical coordination of 
body parts.
It's important to note that dyspraxia 
primarily affects motor skills and 
coordination and is not directly 
related to difficulties in reading text, 
remembering facts, or manipulating 
numbers, which are typically 
associated with other learning or 
cognitive difficulties.

18.	 Option (2) is correct.
Explanation: Assertion (A) is true 
because using multiple modes of 
representation of information can 
help to ensure that all students, 
regardless of their learning style or 
abilities, can access and understand 
the information being presented. 
For example, a teacher might use 
a combination of visual, auditory, 
and kinesthetic activities to teach a 
concept.
Reason (R) is also true, but it is not 
the correct explanation of Assertion 
(A). The concept of inclusion 
includes all children, regardless 
of their learning disabilities or 
emotional difficulties. So, using 
multiple modes of representation of 
information is not just important for 
children with learning disabilities, 
but for all children.

19.	 Option (4) is correct.
Explanation: While autism spectrum 
disorder (ASD) is a condition that 
can vary considerably, it is important 
to note that generalizations cannot 
be made about all individuals with 
Autism. Each person with Autism 
is unique and may exhibit different 
strengths and challenges. However, 
it is worth mentioning that some 
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individuals with Autism may possess 
certain abilities or characteristics 
more commonly associated with the 
condition.
Among the options provided, 
retaining extensive factual 
information (4) is often observed 
as a strength in individuals with 
Autism. Many individuals with 
Autism have exceptional memory 
skills and a strong interest in specific 
topics or areas of interest, which 
can contribute to their ability to 
retain and recall extensive factual 
information.
It is important to remember that 
Autism is a spectrum disorder, 
and the abilities and challenges of 
individuals with Autism can vary 
widely. It is crucial to approach 
each individual with Autism as an 
individual and consider their unique 
strengths and needs.

20.	 Option (3) is correct.
Explanation: They are independent 
in their thinking.
An identifying characteristic feature 
of creative children is that they 
tend to be independent in their 
thinking. Creative individuals often 
demonstrate a willingness to explore 
ideas, think outside the box, and 
generate unique solutions. They 
may challenge conventional norms 
and be open to new perspectives 
and possibilities.
Conformity to norms (option 1) 
is generally not associated with 
creative thinking, as creativity 
often involves breaking away from 
established norms and finding 
innovative approaches. Imitation 
of others (option 2) is also not 
necessarily indicative of creativity, 
as creativity involves originality and 
expressing one's unique ideas.
Regarding attention span (option 4), 
it is important to note that creativity 
is not directly linked to having 
a short or long attention span. 
Attention span can vary among 
individuals, and it may have some 
impact on creative pursuits, but it 
is not a defining characteristic of 
creative children.
Therefore, option (3) is the most 
fitting choice as an identifying 
characteristic feature of creative 
children.

21.	 Option (2) is correct.
Explanation: Presenting ideas 
to children in a sequential and 
understandable manner is vital 
for effective learning. Beginning 
with general concepts allows them 
to grasp the overarching idea 
before delving into specifics. This 
approach caters to their cognitive 
development, as it establishes 
a strong foundation before 
introducing intricate details. This 

gradual progression helps children 
build connections between concepts 
and enhances their comprehension, 
fostering a more holistic and lasting 
understanding of the subject matter.

22.	 Option (4) is correct.
Explanation: The strategy that will 
not be effective for deepening the 
understanding and memory of 
knowledge constructed by students 
is: (4) Mixing irrelevant information 
with relevant information.
Mixing irrelevant information with 
relevant information can lead to 
confusion and hinder students' 
ability to understand and remember 
the knowledge. It can create 
cognitive overload and make it 
difficult for students to extract the 
key concepts and principles. This 
strategy is counterproductive to the 
goal of deepening understanding 
and memory as it introduces 
unnecessary distractions and 
can undermine the clarity of the 
information being presented.
On the other hand, the other 
strategies mentioned can be effective 
for deepening understanding and 
memory:
(1) Creating a metaphor: Metaphors 
can help students relate new 
concepts to something familiar, 
making it easier for them to 
understand and remember the 
information.
(2) Applying the information to new 
problems: Applying knowledge 
to new problems helps students 
reinforce their understanding and 
develop a deeper grasp of the 
concepts by actively using and 
transferring the information.
(3) Acting out the relations 
between sub-concepts: Acting out 
or physically representing the 
relationships between sub-concepts 
can engage students kinesthetically 
and visually, enhancing their 
understanding and memory of the 
knowledge.
It's important for teachers to employ 
strategies that support effective 
learning and promote meaningful 
connections between concepts to 
facilitate deeper understanding and 
memory retention.

23.	 Option (1) is correct.
Explanation: (A) A teacher should 
encourage students to think about 
their own thinking processes and 
ways of learning.
This statement is true. Encouraging 
students to engage in metacognition, 
which involves thinking about their 
own thinking processes and ways of 
learning, is beneficial for their overall 
learning and cognitive development. 
It helps students become aware of 
their learning strategies, monitor 
their understanding, and make 

adjustments as needed. By reflecting 
on their thinking processes, students 
can become more self-directed 
learners and develop effective 
learning strategies.
(R) Metacognition helps in the 
development of higher-order 
cognitive skills.
This statement is also true. 
Metacognition is closely associated 
with higher-order thinking skills, 
such as critical thinking, problem-
solving, and self-regulation. When 
students engage in metacognitive 
activities, they develop the ability 
to analyze and evaluate their own 
thinking, set goals, plan and monitor 
their learning, and make appropriate 
adjustments. These metacognitive 
skills support the development of 
higher-order cognitive processes and 
enhance students' ability to think 
critically, solve complex problems, 
and learn more effectively.
Therefore, both statements are true, 
and statement (R) provides the 
correct explanation for statement 
(A).

24.	 Option (1) is correct.
Explanation: The given scenario 
exemplifies: (1) Divergent thinking.
Divergent thinking refers to the 
ability to generate multiple solutions 
or ideas in response to a problem 
or question. Karan, who considers 
more than one solution to any 
problem and often comes up with 
innovative solutions, demonstrates 
divergent thinking. He is able to 
think creatively, explore different 
possibilities, and generate a variety 
of ideas.
Convergent thinking, on the other 
hand, involves finding a single, 
correct answer or solution based 
on established rules or criteria. The 
scenario does not suggest that Karan 
focuses solely on finding one correct 
solution, but rather he explores 
multiple options.
Negative thinking and irrational 
thinking are unrelated to the given 
scenario. Negative thinking involves 
pessimism and focusing on the 
negative aspects of situations, while 
irrational thinking refers to thinking 
that is not logical or based on reason.
Therefore, the most appropriate 
choice in this case is (1) Divergent 
thinking.

25.	 Option (1) is correct.
Explanation: For learning to be 
effective and meaningful, it is 
important to:
(1) Establish connections between 
learning in school and life outside 
school.
This statement is true. Learning 
becomes more meaningful and 
relevant when students can connect 
what they learn in school to real-
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life situations and experiences 
outside the classroom. By making 
connections between academic 
concepts and their practical 
applications, students can see the 
value and relevance of what they 
are learning, which enhances their 
engagement and understanding.

26.	 Option (1) is correct.
Explanation: Curiosity is the desire 
to learn and explore. It is essential 
for effective learning because it 
motivates students to ask questions, 
seek out new information, and make 
connections between different ideas. 
When students are curious, they 
are more likely to be engaged and 
motivated to learn. They are also 
more likely to think critically and 
creatively.

27.	 Option (4) is correct.
Explanation: The approach that is 
not correct for a teacher to deal with 
errors made by students is:
4. Telling the correct answers 
without discussion with students.
Simply telling students the correct 
answers without engaging in 
discussion or understanding the 
underlying reasons for the errors 
is not an effective approach. It 
does not promote meaningful 
learning or help students develop 
their problem-solving and critical-
thinking skills. This approach misses 
the opportunity to address learning 
gaps, provide necessary support, 
and encourage students to reflect on 
their mistakes.

28.	 Option (2) is correct.
Explanation: An incremental view of 
ability is the belief that intelligence 
is something that can be developed 
through effort and practice. This 
view is supported by research, 
which shows that intelligence is 
not fixed but can change over time. 
When students believe that they can 
improve their intelligence through 
effort, they are more likely to be 
motivated to learn and to persist in 
the face of challenges.
Mastery-oriented goals are goals that 
focus on learning and understanding 
new material. These goals are more 
likely to lead to deep learning and 
long-term retention of information 
than performance-oriented goals, 
which focus on achieving a certain 
level of performance, such as getting 
a good grade on a test.
When students have an incremental 
view of ability and mastery-oriented 
goals, they are more likely to be 
engaged and motivated in learning. 
They are also more likely to take 
risks and to persevere in the face 
of challenges. This leads to better 
academic performance and a more 
positive learning experience overall.

29.	 Option (2) is correct.
Explanation: In the context of 
emotion and cognition, the following 
statement is correct:
(2) Sense of joy enhances 
engagement in discussion.
Positive emotions, such as joy, can 
have a positive impact on cognition 
and engagement. When individuals 
experience positive emotions, they 
are more likely to be motivated, 
focused, and open to learning. In 
the context of a discussion, a sense 
of joy can enhance participation, 
creativity, and the overall quality of 
the conversation.
The other statements, (1), (3), and 
(4), are not accurate:
(1) High stress does not typically 
enhance problem-solving skills. 
While stress can sometimes increase 
alertness and attention in certain 
situations, high levels of stress 
can impair cognitive performance, 
including problem-solving abilities.
(3) High anxiety does not generally 
improve processing of information. 
Anxiety can lead to difficulties in 
concentration, memory retrieval, 
and information processing. It often 
interferes with cognitive functioning 
and can have a negative impact on 
learning and performance.
(4) A sense of boredom does not 
improve critical thinking. Boredom 
is associated with disengagement 
and a lack of interest or motivation. 
It can hinder cognitive processes 
and make it difficult to maintain 
focus or generate creative and 
critical thoughts.
Therefore, statement (2) is the 
correct one in the given context.

30.	 Option (2) is correct.
Explanation: The correct option that 
contributes to the development of 
effective problem-solving skills is: 
(2) (ii) and (iii)
(ii)	 Mnemonics: Mnemonics are 

memory aids or strategies that 
help individuals remember 
information more effectively. 
They can assist in organizing 
and encoding information 
in a way that facilitates 
problem-solving. Mnemonics 
can improve memory recall, 
which is essential for accessing 
relevant information during 
the problem-solving process.

(iii)	 C o m p r e h e n s i o n : 
Comprehension refers to 
the understanding and 
interpretation of information 
or concepts. Effective problem-
solving requires a solid 
understanding of the problem 
at hand. It involves analyzing 
the problem, identifying 
relevant information, and 
developing appropriate 

strategies. Comprehension 
skills contribute to the ability to 
break down complex problems 
into manageable parts and 
devise effective solutions.

Convergent thinking (i) refers to the 
ability to find a single correct solution 
to a problem, which is not the 
sole approach in problem-solving. 
Problem-solving often requires both 
convergent and divergent thinking, 
where individuals generate multiple 
possible solutions and evaluate their 
effectiveness.
Passive imitation (iv) does not directly 
contribute to the development of 
effective problem-solving skills. 
Problem-solving requires active 
engagement, critical thinking, and 
the ability to analyze and generate 
solutions independently.
Therefore, option (2) is the correct 
choice as both (ii) Mnemonics and 
(iii) Comprehension contribute 
to the development of effective 
problem-solving skills.

Mathematics
31.	 Option (3) is correct.

Explanation: Vishal has ten dozen 
candies, which is equal to
	 10 × 12	 = 120 candies.

He gave 1
3  

of these candies to 

Radha, which is
	

	

1
3

120





× 	 = 40 candies.

He then
 

2
5  

gave of these candies to 

Asif, which is 
		

	

2
5

120





×

	
= 48 candies.

Lastly, he gave 1
12  

of these candies 

to Sonu, which is

	

1
12

120





×

	
= 10 candies.

Total number of candies given by 
him was
	 40 + 48 + 10	 = 98
Therefore, the number of candies 
left with Vishal is 
	 120 – 98	 = 22.

32.	 Option (2) is correct.
Explanation: To find the sum of all 
the factors of 56, we can start by 
finding its prime factorization.
56 can be factored as:
		  56	 = 2 × 2 × 2 × 7
Now, we need to calculate the sum 
of the factors using the formula:
	Sum of factors
		  = (20 + 21 + 22 + 23) �
� × (70 + 71)
Calculating the values:
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			   = (1 + 2 + 4 + 8) �
� × (1 + 7)
			   = 15 × 8
			   = 120
Therefore, the sum of all the factors 
of 56 is 120.

33.	 Option (3) is correct.
Explanation: To determine which 
of the statements is correct, we 
can evaluate each statement 
individually:

(1)
		

3
5 	

>
5
7

	� Making the denominator same 
we get,

		

3
5 	

=  = 
3 7
5 7

21
35

×
×

		

5
7 	

=  = 
5 5
7 5

25
35

×
×

		

21
35 	

>
25
35

	 Now, compare these fractions

	� Since, 21
35

25
35

<
 

the statement  

21
35

25
35

>
 
is incorrect.

(2)	� The fraction
 

8
30  

can be written 

as
 

4
15  

which is not equal to 2
5

	
�So, the statement 2

5
8
30

 = 
 

is 

incorrect.
(3)	� Now, the third statement 

says that 1
5

1
3

< , making 

denominator of both the fraction 

same we get, 

1
5

1 3
1 15

3
15

 =  = 
×
×  

and
 

1
3

1 5
1 5

5
15

 =  = 
×
×

 and
 

3
15

5
15

<

	� Thus, the statement 1
5

1
3

<
 

is 

correct.

(4)	� The fractions 1
1
3  

and 2
1
6  

can be written as 4
3

 and 13
6

respectively.

	� Again, 4
3

can be written as
 

8
6

, 

which is less than 13
6

Thus, the fourth statement 1
1
3

2
1
6

>  

is incorrect.
34.	 Option (4) is correct.

Explanation: Based on the 
comparisons, we can conclude that 

option (4) has the numbers written 
in ascending order:
5.02 < 5.022 < 5.032 < 5.201 < 5.32

35.	 Option (3) is correct.
Explanation: To find the sum 
of the place values of 7 in the 
number 75707, we need to consider 
the positions where 7 appears 
in the number and add up the 
corresponding place values.
The given number is 75707.
The first 7 is in the ten thousands 
place which has a value of 70,000
The second 7 is in the hundreds 
place which has a value of 700
The third 7 is in the ones place 
which has a value of 7
Adding up these values, we get
		 70,000 + 700 + 7 = 70,707

36.	 Option (3) is correct.
Explanation:
When 60078 is divided by 245, it 
leaves 53 as remainder.
According to formula,
	 Dividend	 = divisor × quotient 
� + remainder
	 60078	 = 245 × 245 + 53
So, if we subtract 53 from the given 
number 60078, we get, 60025 which 
is exactly divisible by 245.

37.	 Option (4) is correct.
Explanation: If we arrange the units 
in ascending order based on their 
measurements, the correct order 
would be:
mm (millimetre) < cm (centimetre) 
<  dm (decimetre) < m (metre) 
< km (kilometre).
Therefore, the unit that would be at 
the fourth place when arranged in 
ascending order is (4) m (meter).

38.	 Option (2) is correct.
Explanation: To find the time 6 
hours 35 minutes before 15:20 hours, 
we subtract 6 hours 35 minutes from 
15:20 hours.
Subtracting the hours, we get: 
		  15 – 6	 = 9 hours.
Subtracting the minutes, we get 
		  20 – 35	 = –15 minutes.
Since we have a negative value for 
the minutes, we need to borrow 1 
hour from the hours.
So, the final result is 9 hours – 1 
hour = 8 hours and – 15 minutes.
To convert the negative minutes to 
positive,
we can add 60 minutes to it:
		 – 15 + 60	= 45 minutes.
Therefore, the time 6 hours 35 
minutes before 15:20 hours is 8:45 
am.

39.	 Option (3) is correct.
Explanation: To determine Jayanti's 
position from place P after walking 
3
5  

km towards east and then 

1
5
7  

km towards west, we have 

to subtract the distance walked 
towards the west from the distance 
walked towards the east.

First, let us convert 1
5
7

km to an 
improper fraction:

		
1

5
7 	

= 
12
7

Now, we can calculate the net 
displacement:

	

3
5  

km (east)
	

= 
3 7
5 7
×
×

			 
−

12
7  

km (west)

To subtract fractions, we need a 
common denominator
LCM of 5 and 7 is 35.

		

3
5  

km
	

= 
21
35  

km

		

12
7  

km
	

= 
12 5
7 5
×
×

			 
=

 

60
35  

km

Now,
	

21
35

60
35

−
	
=

 
– 39

35
Therefore, Jayanti will be at a 

position 39
35

km or 1
4
35

km towards 

the west from place P.
40.	 Option (2) is correct.

Explanation:
We know that,
1 L	 = 1000 ml
	 = (5 × 1000) millilitres �
� + 50 millilitres
5 Litres and 50 millilitres 
		 = 5000 millilitres + 50 millilitres
		 = 5050 millitres.

41.	 Option (3) is correct.
Explanation: The figure that does 
not have an equal number of linear 
and rotational symmetries is (3) 
Parallelogram.
A square has 4 sides and 4 rotational 
symmetries, as well as 4 lines of 
symmetry.
A rectangle has 4 sides and 2 
rotational symmetries, as well as 2 
lines of symmetry.
A rhombus has 4 sides and 2 
rotational symmetries, as well as 2 
lines of symmetry.
However, A parallelogram has 4 
sides. It has no linear symmetry and 
2 rotational symmetries.

42.	 Option (2) is correct.
Explanation: To determine the 
volume of the big box needed to 
hold all the small cubes without 
leaving any empty space, we can 
calculate the total volume of the 
small cubes and use that as the 
volume of the big box.
Rehan makes 25 cubes of each side 5 
cm. The volume of one cube is given 
by (side length)3.
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Volume of one small cube
		  = (5 cm)3 = 125 cm3

Since Rehan makes 25 cubes, the 
total volume of all the small cubes is:
	 Total volume	 = 25 cubes �
� × 125 cm3/cube
			   = 3125 cm3

Therefore, the volume of the big box 
should be 3125 cm3 in order to hold 
all the small cubes without leaving 
any empty space.

43.	 Option (2) is correct.
Explanation: To find the median of 
the given heights, we arrange them 
in ascending order:
158 cm, 158 cm, 159 cm, 160 cm, 160 
cm, 161 cm, 162 cm, 167 cm, 170 cm
The median is the middle value 
in a set of data when arranged in 
ascending or descending order.
Here, number of observation is 9.
When n is odd,

Median
 
= 

thn +







1
2  

term

            
= 

9 1
2
+

            
= 

10
2  

th term

            = 5th term
Therefore, the median of the heights 
is 160 cm.

44.	 Option (3) is correct.
Explanation: To analyze the given 
data, let us examine each statement:
(1)	 The number of students who 

like Chess is more than the 
number of students who like 
Football.

	 According to the data, 50 
students like Chess and 
60 students like Football. 
Therefore, this statement is 
incorrect.

(2)	 The number of students who 
like Badminton is less than the 
number of students who like 
Football.

	 According to the data, 70 
students like Badminton and 
60 students like Football. 
Therefore, this statement is 
incorrect.

(3)	 Number of students who like 
Chess are one-fourth of the 
total number of students.

	 50 students like Chess which is 
one-fourth of the total that is 
200 (60 + 50 + 70 + 20 = 200) 
Therefore, this statement is 
correct.

(4)	 The number of students who 
like Volleyball is 20 which is not 
equal to one-fifth of the total 
number of students.

	 As, one-fifth of 200 is 40.
	 Therefore, this statement is 

incorrect.

45.	 Option (2) is correct.
Explanation: To identify the missing 
numbers in the given pattern, let us 
examine the sequence:
In the Fibonacci sequence the next 
number is found by adding the two 
numbers before it.
Thus, the next number after 8 will be 
5 + 8 that is 13 and the number after 
34 will be 21 + 34 that is 55.
The sequence will be 0, 1, 1, 2, 3, 5, 8, 
13, 21, 34, 55, 89.
Therefore, the missing numbers in 
the pattern are 13 and 55.

46.	 Option (4) is correct.
Explanation: The correct option is 
(4) Labelling the learners according 
to their marks in a test.
Assessment in mathematics should 
not focus on labelling learners 
according to their marks in a test. 
Assessment should be a tool to 
identify learning gaps, plan need-
based remedial classes and provide 
feedback to the learners. It should 
aim to understand the conceptual 
understanding of the learners and 
provide support accordingly.
Labelling learners based solely 
on their marks can create a fixed 
mindset, hinder their growth and 
development in mathematics. It is 
important to focus on understanding 
their strengths, weaknesses and 
areas of improvement rather than 
simply assigning labels based on test 
scores.
Therefore, option (4) is the correct 
choice as it goes against the purpose 
of meaningful assessment in 
mathematics.

47.	 Option (2) is correct.
Explanation: The most important 
aspect of foundational numeracy 
among the options provided is (2) 
Developing number sense.
Developing number sense refers 
to having a deep understanding of 
numbers and their relationships, 
including concepts such as place 
value, estimation, comparison 
and the ability to work flexibly 
with numbers. Number sense 
goes beyond mere calculations 
and focuses on conceptual 
understanding, reasoning, and 
problem-solving abilities.
While quick and accurate calculations 
(option 1) and the grasp of standard 
algorithms (option 3) are important 
skills in numeracy, they are built 
upon a solid foundation of number 
sense. Developing number sense 
provides learners with the necessary 
foundation to perform calculations 
accurately and efficiently.
Counting (option 4) is an essential 
skill in numeracy, particularly in 
the early stages, but it is only one 
component of developing number 
sense. Number sense encompasses a 

broader range of concepts and skills 
beyond counting.
Therefore, option (2) Developing 
number sense is the most important 
aspect of foundational numeracy.

48.	 Option (1) is correct.
Explanation: According to the 
National Curriculum Framework 
2005, the most appropriate aspect 
with the Primary Mathematics 
curriculum is (1) It must explicitly 
incorporate the progression that 
learners make from the concrete 
to the abstract while acquiring 
concepts.
The Primary Mathematics curriculum 
should focus on providing a 
strong foundation in mathematics 
by allowing learners to progress 
from the concrete (hands-on 
experien-ces, manipulatives) to the 
abstract (symbolic representations, 
algorithms) as they acquire mathe-
matical concepts. This approach 
helps students build a deeper 
understanding of mathematical 
ideas by first experiencing them 
in a tangible and meaningful way 
before moving towards more abstract 
representations.
Option (2) stating that the 
curriculum should include mainly 
topics with application in higher 
classes does not align with the 
primary curriculum, as it should 
prioritize foundational concepts and 
skills that lay the groundwork for 
future learning.
Option (3) suggesting the 
introduction of algebraic notations 
and their use in solving problems 
is more relevant to upper grades 
rather than the primary level.
Option (4) emphasizing the use 
of various methods of proving 
theorems is not typically a focus of 
the primary curriculum, as it involves 
more advanced mathematical 
concepts and techniques.
Therefore, option (1) is the most 
appropriate with the Primary 
Mathematics curriculum as per the 
National Curriculum Framework 
2005.

49.	 Option (3) is correct.
Explanation: The most appropriate 
strategy to rectify the mistake made 
by the student, who wrote 504 
instead of 54, would be to choose 
option 3: Explain how to write two-
digit numbers using a bundling 
activity.
In this case, the mistake made 
by the student indicates a lack of 
understanding of place value. By 
engaging in a bundling activity, 
the teacher can demonstrate how 
to correctly represent two-digit 
numbers by bundling ten units 
together.
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The teacher can show the student 
that 54 consists of 5 tens (50) and 4 
ones, emphasizing the importance 
of correctly representing each place 
value.
Option 1, asking the child to erase 
the zero from the middle place, 
may not effectively address the 
underlying issue of understanding 
place value.
Option 2, marking the answer 
as wrong and asking the child to 
rewrite 5 and 4, does not provide an 
opportunity for the student to learn 
from the mistake and understand 
the correct representation of two-
digit numbers.
Option 4, asking the student to find 
out the correct answer themselves, 
may not be suitable in this 
scenario as the student has already 
demonstrated a misunderstanding 
of place value.
Therefore, option 3, explaining how 
to write two-digit numbers using 
a bundling activity, is the most 
appropriate strategy to rectify the 
mistake and support the student's 
understanding of place value.

50.	 Option (3) is correct.
Explanation: The correct sequence 
for developing the concept of the 
area of a rectangle is:
(3) (b); (c) and (a)
First, measuring the sides of the 
rectangle and calculating its area by 
multiplying the length and breadth 
(option b) is a fundamental step in 
understanding the concept of area.
Next, covering the surface of the 
rectangle with square tiles of a 
known size (option c) and counting 
the number of tiles helps students 
visualize the concept of area as the 
number of square units required to 
cover the shape.
Lastly, covering the given rectangle 
with objects like erasers or 
sharpeners and asking students 
to count them (option a) does not 
directly relate to the concept of area. 
While it may provide a hands-on 
activity, it does not help develop 
a deep understanding of area as a 
measurement concept.
Therefore, the correct sequence is 
option (3) (b); (c) and (a).

51.	 Option (1) is correct.
Explanation: Anecdotal records 
are brief notes that a teacher takes 
while observing children during 
an activity or task in the classroom. 
These records document a range 
of behaviors exhibited by children, 
capturing specific details, actions, 
or interactions that are relevant to 
their learning and development. 
Anecdotal records provide a written 
account of the observed behaviors, 
which can be used for later 
reflection, analysis, and assessment.

52.	 Option (2) is correct.
Explanation: In teaching 
mathematical concepts, the use of 
visual manipulatives helps to move 
from Concrete to abstract concepts.
Visual manipulatives, such as blocks, 
counters, geometric shapes, or other 
tangible objects, provide a concrete 
representation of mathematical 
concepts. They allow students to 
engage in hands-on, interactive 
learning experiences that help them 
to develop a solid understanding of 
abstract mathematical ideas.
By starting with concrete 
manipulatives, students can 
physically manipulate and explore 
mathematical concepts, making them 
more accessible and understandable. 
As students gain proficiency and 
understanding through hands-on 
experiences, they can gradually 
transition to abstract representations, 
such as symbols, equations and 
algorithms.
The use of visual manipulatives 
bridges the gap between concrete 
experiences and abstract concepts, 
enabling students to make connec-
tions, develop problem-solving skills 
and eventually internalize mathe-
matical ideas.
Therefore, option (2) Concrete to 
abstract concepts is the correct 
answer.

53.	 Option (4) is correct.
Explanation: Problem-solving 
strategies in mathematics involve (4) 
reasoning and patterning.
While intuition and experimentation 
(option 1) can be useful in 
exploring mathematical problems, 
problem-solving strategies go 
beyond these initial approaches. 
Reasoning involves logical thinking, 
making connections and drawing 
conclusions based on evidence or 
mathematical principles.
Patterning (option 4) is another 
important aspect of problem-
solving. Recognizing patterns and 
using them to make predictions or 
solve problems is a key strategy in 
mathematics. Patterns can provide 
insights into the underlying 
structure of a problem and guide 
problem-solving approaches.
Memorization and procedural 
fluency (option 2) are important for 
developing mathematical skills and 
proficiency but are not the primary 
focus of problem-solving strategies. 
Problem-solving strategy involves 
critical thinking, analysis and 
applying conceptual understanding 
rather than relying solely on 
memorized procedures.
Observation and experimentation 
(option 3) can be part of the problem-
solving process, but they are not 
the defining strategies. Observation 
helps in gathering information 

and making connections, while 
experimentation allows for 
exploration and testing of ideas. 
However, problem-solving strategies 
involve more comprehensive 
approaches that include reasoning, 
patterning and other problem-
solving techniques.
Therefore, option (4) reasoning 
and patterning is the most accurate 
description of problem-solving 
strategies in mathematics.

54.	 Option (2) is correct.
Explanation: The least appropriate 
option about teaching and learning 
of Lowest Common Multiple (LCM) 
at the primary school level is option 
(2) It cannot be taught to children of 
primary grade.
LCM is a mathematical concept 
that can certainly be introduced 
and taught to children at the 
primary school level. While it may 
require simplified explanations 
and hands-on activities to make it 
more accessible, it is not beyond 
the comprehension of primary 
school children. Therefore, option 
(2) is the least appropriate because 
it incorrectly suggests that LCM 
cannot be taught to children at the 
primary grade level.

55.	 Option (4) is correct.
Explanation: The correct option is 
(4) (b) and (c).
The child has used both the 
distributive law and the associative 
law in their solution.
They applied the distributive law by 
breaking down 28 into (14 × 2) and 
multiplying it by 5.
They also applied the associative 
law by rearranging the parentheses 
and multiplying 14 by (2 × 5).
Therefore, the child has used 
both the distributive law and the 
associative law in their solution.

56.	 Option (2) is correct.
Explanation: The most appropriate 
activity for the development of 
spatial understanding among 
primary grade learners is option 
(2) Drawing a map of their homes 
showing relative sizes and position 
of rooms.
Drawing a map of their homes 
allows children to apply spatial 
reasoning skills by representing the 
layout and relative sizes of rooms. 
This activity encourages them to 
visualize and understand spatial 
relationships, such as how rooms are 
positioned in relation to each other. 
It also requires them to consider 
scale and proportion while drawing 
the map.
While options (1) Representing 
numbers on a number line and (3) 
Measuring the distance between 
two cities on a map involve spatial 
concepts to some extent, they are 
more focused on numerical and 
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measurement skills rather than 
developing spatial understanding.
Option (4) Recalling the names of 
geometrical figures is not directly 
related to developing spatial 
understanding but rather focuses on 
the knowledge of geometric shapes.
Therefore, option (2) Drawing 
a map of their homes showing 
relative sizes and position of rooms 
is the most appropriate activity 
for the development of spatial 
understanding among primary 
grade learners.

57.	 Option (3) is correct.
Explanation: According to Bruner, 
the mode of learning described 
where concrete objects are used for 
manipulation and understanding, is 
known as (3) Enactive.
Enactive learning involves learning 
through direct action and hands-on 
experiences with concrete objects. 
In this case, Ms. Alka is using 
tokens, pencils, erasers and other 
objects to allow the students to 
physically manipulate and combine 
them to understand addition of 
single-digit numbers. This concrete 
representation helps students to 
develop a tangible understanding 
of the concept before moving on to 
more abstract representations.
Iconic learning (option 2) refers 
to learning through visual 
representations or images. Symbolic 
learning (option 4) involves learning 
through abstract symbols, such as 
numbers or mathematical notation.
Therefore, the most appropriate 
option in this case is (3) Enactive.

58.	 Option (4) is correct.
Explanation: According to Van 
Hiele's theory of geometric thin-
king, the child who gives examples 
of different shapes from his surroun-
dings like "Samosa is a triangle" is at 
the (4) Visualization level.
The Van Hiele levels of geometric 
thinking propose a developmental 
sequence of understanding geo-
metric concepts. At the Visualization 
level, children recognize and identify 
shapes based on their appearance 
or visual characteristics. They can 
visually distinguish basic shapes but 
may not have a deep understanding 
of their properties or relationships.
In this case, the child's statement 
about the samosa being a triangle 
indicates that they are recognizing 
the visual resemblance of the 
samosa to a triangle. However, 
their understanding is primarily 
based on visual observation rather 
than a deeper understanding of 
the properties and characteristics of 
triangles.
The Analysis level (option 1) 
involves analyzing and comparing 
properties of shapes. The Axiomatic 
level (option 2) involves a formal 

understanding of geometric defini-
tions and theorems. The Deduction 
level (option 3) involves deductive 
reasoning and logical thinking based 
on geometric principles.
Therefore, the child's example places 
them at the Visualization level 
(option 4) of Van Hiele's theory of 
geometric thinking.

59.	 Option (3) is correct.
Explanation: Based on the given 
information, it can be said that the 
child has conceptual understanding 
of subtraction and hence uses an 
alternate strategy.
The child's approach of changing 29 
to 30 and 63 to 64 indicates that they 
have a conceptual understanding 
of subtraction. By adjusting both 
numbers, they are simplifying the 
problem by creating a friendlier 
subtraction calculation, which can 
be easier to solve mentally. This 
approach demonstrates flexibility 
and an understanding of how 
numbers can be manipulated within 
a subtraction problem.
Option (1) can be ruled out because 
the child does solve the problem and 
provides an answer. Option (2) can 
also be ruled out because the child 
demonstrates a clear understanding 
of the difference between addition 
and subtraction.
Option (4) is not applicable 
since the child shows conceptual 
understanding by employing an 
alternative strategy to solve the 
problem.
Therefore, the most appropriate 
option is (3) - the child has conceptual 
understanding of subtraction and 
hence uses an alternate strategy.

60.	 Option (4) is correct.
Explanation: In the light of the 
child's response that "7x0=7" and 
"0x7=7," it can be inferred that 
the child is incorrectly extending 
the properties of addition to 
multiplication problems.
The child's response suggests that 
they are applying the property of 
addition, where adding zero to a 
number does not change the value 
of the number, to multiplication. 
However, in multiplication, when 
one of the factors is zero, the 
product is always zero. Therefore, 
both statements provided by the 
child are incorrect.
Option (1) suggesting that the child 
is being careless and inattentive may 
not necessarily be the case since the 
child is actively participating and 
providing responses.
Option (2) suggesting that the child 
needs to be told about the starting 
point of multiplication tables is 
not directly relevant to the issue 
at hand, as the child's error lies 

in understanding the concept of 
multiplying by zero.
Option (3) suggesting that the child 
needs more practice for correct 
computation is a valid consideration, 
as additional practice can help 
reinforce the correct understanding 
and application of multiplication 
concepts. However, the child's error 
is specifically related to multiplying 
by zero.
Therefore, the most appropriate 
option is (4) - the child is incorrectly 
extending the properties of addition 
to multiplication problems.

Environmental Studies
61.	 Option (1) is correct.

Explanation: Based on the given 
information, Radha goes 2.5 km 
towards North from her house, then 
turns left and goes 5 km, and finally 
turns left again and goes 2.5 km.
Considering her movements, after 
the first leg of 2.5 km towards 
North, she turns left, which means 
she is now moving towards the West 
direction. She continues for 5 km 
towards the West. Then, she turns 
left again, which means she is now 
moving towards the South direction. 
She goes for another 2.5 km towards 
the South.
By analyzing her movements, it can 
be determined that she ends up 5 
km South from her house. Therefore, 
the correct option is (1) - Radha is 5 
km South from her house.

62.	 Option (2) is correct.
Explanation: The 'Valley of Flowers' 
National Park is in (2) Uttarakhand.

63.	 Option (3) is correct.
Explanation: Based on the clues 
provided in the riddle, the spice 
mentioned is (3) Cumin.
Cumin is a spice that can be brown 
or black in color. It is commonly 
used in various cuisines to add 
flavor and aroma. The reference to 
being roasted and curd and jaljeera 
being favorite indicates the usage 
of cumin in roasted or powdered 
form in dishes and its popularity in 
specific culinary combinations.
Therefore, the spice mentioned in 
the riddle is cumin, so the correct 
option is (3) Cumin.

64.	 Option (4) is correct.
Explanation: The major component 
of CNG (Compressed Natural Gas) 
is (4) Methane.
CNG primarily consists of methane, 
which is a hydrocarbon compound 
made up of one carbon atom 
and four hydrogen atoms (CH4). 
Methane is the primary component 
of natural gas and is commonly 
used as a fuel due to its clean-
burning properties and relatively 
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low emissions compared to other 
fossil fuels.
Therefore, the correct option is (4) 
Methane.

65.	 Option (3) is correct.
Explanation: To calculate the 
average speed of the train, we need 
to determine the total time taken 
for the journey and divide it by the 
distance traveled.
The train started from Gandhidham 
Railway Station on 29th September, 
2022, at 12:30 hours and reached 
Thiruvananthapuram railway station 
on 1st October, 2022, at 07:00 hours.
To calculate the time taken, we can 
subtract the departure time from the 
arrival time:
07:00 hours on 1st October to12:30 
hours on 29th September = 42.5 
hours.
Now, we can calculate the average 
speed by dividing the distance 
traveled (2296 kilometers) by the 
time taken (42.5 hours):
	Average speed	 = Distance ÷ Time
	Average speed	 = 2296 km �
� ÷ 42.5 hrs.
	 	 ≈ 54.0 km/h
Therefore, the approximate average 
speed of the train is (3) 54.0 km/h.

66.	 Option (4) is correct.
Explanation: To determine the 
correct direction of your house 
with respect to your school, we can 
analyze the given information step 
by step:
n	You start at X (your house) and 

go to A, which is 60 m due North 
of X.

n	From A, you go to B, which is 25 
m due East of A.

n	From B, you go to C, which is 100 
m due North of B.

n	Finally, you reach your school, 
which is 25 m due West of C.

To simplify the directions, let's assign 
N for North, S for South, E for East, 
and W for West.
Based on the given directions, we 
can determine the relative positions 
as follows:
n	X (your house) is 60 m North of 

A.
n	A is 25 m East of B.
n	B is 100 m North of C.
n	The school is 25 m West of C.
From the given information, we can 
infer that the school is in the West 
of your house. Therefore, the correct 
direction of your house with respect 
to your school is (4) South-West.
Please note that the exact compass 
directions may vary depending on 
the orientation of the map, but the 
relative positions indicate that your 

house is to the South-West of your 
school.

67.	 Option (2) is correct.
Explanation: The pair of birds that 
have excellent sight and can see 
things from a distance four times as 
far as we can is (2) Kite and Vulture.
Kites and vultures are known for 
their exceptional eyesight and are 
considered birds of prey. They have 
adaptations that allow them to spot 
and locate prey from great distances. 
Their sharp vision enables them 
to see objects clearly and detect 
movements from far away, giving 
them a significant advantage while 
hunting or scavenging.
While crows, owls, Indian robins, 
eagles, and barbets may have good 
eyesight, kites and vultures are 
specifically renowned for their 
exceptional long-distance vision.
Therefore, the correct option is (2) 
Kite and Vulture.

68.	 Option (1) is correct.
Explanation: The pair of diseases 
caused/spread by mosquitoes is:
Malaria and Dengue

69.	 Option (4) is correct.
Explanation: According to the given 
scale, 1 cm on the map represents 
950 meters in real life.
To find the actual distance between 
the two places, we need to convert 
the measured distance on the map 
(19.2 cm) into real-life distance.
		  19.2 cm × 950 meters/cm	
= 18,240 meters
Converting meters to kilometers:
		  18,240 meters	
= 18.24 kilometers
Therefore, the actual distance 
between the two places is approxi-
mately 18.24 kilometers, which is 
closest to option (4) 18 kilometers.

70.	 Option (3) is correct.
Explanation: Based on the given 
description, the state that matches 
the characteristics mentioned is (3) 
Rajasthan.
Rajasthan is known for its arid and 
dry climate with limited rainfall. 
The weather is generally hot in most 
parts of the state. In rural areas, 
mud houses are common due to 
the availability of locally sourced 
materials and their insulating 
properties. The walls of these houses 
are often made thick and plastered 
with mud to provide insulation 
from the heat. Additionally, the roofs 
made of thorny bushes, known as 
"thatched roofs," are commonly used 
in Rajasthan and other arid regions 
to provide shade and insulation 
from the sun.
Therefore, based on the description, 
the state mentioned is most likely 
Rajasthan.

71.	 Option (4) is correct.
Explanation: The correct option is 
(4) Srinagar.
"Char Chinari" is a famous tourist 
place located in Srinagar, which 
is the summer capital of Jammu 
and Kashmir, India. Srinagar is 
known for its beautiful landscapes, 
including mountains, lakes, and 
gardens. "Char Chinari" refers to a 
group of four small islands situated 
on the Dal Lake in Srinagar. It is 
a popular attraction for tourists 
visiting the city, offering scenic 
views and tranquility amidst the 
natural surroundings.

72.	 Option (4) is correct.
Explanation: The animal whose 
sense of hearing is so sharp that it 
can make out the difference between 
the rustling of leaves and the sound 
of an animal moving on the grass 
is the tiger, which corresponds to 
option (4). Tigers have excellent 
hearing capabilities, allowing them to 
detect subtle sounds and distinguish 
between different types of noises in 
their environment. This acute sense 
of hearing is beneficial for hunting 
and locating potential prey, as well 
as detecting potential threats or 
intruders in their habitat.

73.	 Option (3) is correct.
Explanation: The correct pair is:
(3) Carrot: Tap Root
Carrots have a tap root system, 
where the main root grows straight 
down into the soil, serving as the 
primary anchoring root. This tap 
root gives rise to smaller lateral roots 
and secondary root branches. The 
tap root of a carrot stores nutrients, 
enabling the plant to survive and 
grow.

74.	 Option (3) is correct.
Explanation: The correct statements 
about the tree named "Desert Oak" 
are:
(3) B, C, and E
Statement B: This tree grows almost 
as tall as the height of a common 
classroom of an elementary school, 
i.e., about 4 meters.
Statement C: Its roots go deep down 
into the ground till they reach the 
water level.
Statement E: This tree has very few 
leaves.
These three statements are the 
correct ones that accurately describe 
the characteristics of the Desert Oak 
tree.

75.	 Option (1) is correct.
Explanation: The State/Union 
Territory where people like to eat 
fish cooked in mustard oil is: (1) 
Kashmir
In Kashmir, fish cooked in mustard 
oil is a popular dish. The cuisine of 
Kashmir often includes preparations 
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of fish, and the use of mustard oil 
adds a distinct flavor to the dishes. 
Mustard oil is commonly used in 
the region for cooking, including the 
preparation of fish-based recipes.

76.	 Option (4) is correct.
Explanation: Anecdotal records are 
used to identify a child's areas of 
interest and relationships (Option A). 
They provide valuable information 
about a child's preferences, beha-
viors, and interactions, helping edu-
cators and caregivers understand 
their individual interests and social 
connections.
Anecdotal records are also used 
to know the strengths and 
weaknesses of a child (Option D). 
By documenting observations and 
specific incidents, educators can 
gain insights into a child's abilities, 
developmental progress, and areas 
where they may require additional 
support or challenges.
Therefore, the correct answer is (4) 
A and D.

77.	 Option (4) is correct.
Explanation: Astha asked her class 
IV learners two short questions 
before starting the chapter on spices 
with the intention of eliciting their 
ideas and prior knowledge about 
the topic. By asking these questions, 
Astha wanted to engage the students 
in thinking and discussing the topic 
of spices, encouraging them to 
share their thoughts, experiences, 
and any existing knowledge they 
might have. This approach helps 
in building connections between 
prior knowledge and new concepts, 
making the learning experience 
more interactive and meaningful.
The correct option is: (4) elicit 
learners' ideas about the topic – 
spices.

78.	 Option (2) is correct.
Explanation: When Madhavi 
discussed the field trip with her 
students, it can be considered as an 
example of "assessment for learning." 
Madhavi encouraged them to reflect 
on what they learned, connect 
it to their prior knowledge, and 
evaluate their understanding of the 
concepts explored during the trip. 
This process helps students take 
ownership of their learning and 
develop metacognitive skills as they 
assess their own progress and make 
connections between the field trip 
experience and the curriculum.
The correct option is: 2 Assessment 
for learning.

79.	 Option (4) is correct.
Explanation: Effective teaching 
and learning take place when 
the activities conducted by the 
teacher facilitate the construction 
of knowledge and understanding 
of concepts in students. This means 

that the teaching methods and 
activities employed by the teacher 
should actively engage students in 
meaningful learning experiences. 
Students should be encouraged to 
participate, explore, inquire, and 
apply their knowledge in order to 
construct them understanding of 
the subject matter. This approach 
promotes active learning, critical 
thinking, problem-solving, and 
the development of higher-order 
cognitive skills. The emphasis is on 
students' active involvement and 
their ability to make connections, 
analyze information, and apply their 
learning in real-life situations.
The correct option is: (4) the activities 
conducted by the teacher help 
children in constructing knowledge 
and understanding the concepts.

80.	 Option (3) is correct.
Explanation: The most appropriate 
tool to assess the socio-personal 
qualities of children engaged in 
learning of EVS (Environmental 
Studies) through group work is 
Rating Scales.
Rating scales are a suitable tool 
for assessing socio-personal 
qualities because they allow for the 
evaluation of various dimensions 
or characteristics of a student's 
behavior, attitude, or skills. In the 
context of group work, a rating scale 
can be designed to assess qualities 
such as cooperation, teamwork, 
communication, leadership, 
empathy, respect, and responsibility. 
The rating scale typically consists of 
a set of statements or descriptors for 
each quality being assessed, and the 
teacher or observer rates the extent 
to which each student displays those 
qualities based on their observations 
during the group work activities. 
This tool provides a systematic and 
standardized approach to assess 
socio-personal qualities and allows 
for a comprehensive evaluation of 
students' behavior and interactions 
during group work.

81.	 Option (1) is correct.
Explanation: As an EVS teacher, the 
factors to consider while planning a 
group activity for the class are:
(1)	 A, B, and C
A.	 Arouse interest among 

children: It is essential to plan 
a group activity that sparks the 
interest and curiosity of the 
children. This helps in keeping 
them engaged and motivated 
to participate actively in the 
learning process.

B.	 Inclusive in nature: 
The group activity should 
be designed in a way that 
encourages the participation 
of all students and promotes 
inclusivity. It should provide 
equal opportunities for every 

student to contribute and learn 
from the activity.

C. Cost effectiveness: While 
planning a group activity, it 
is important to consider the 
resources required and ensure 
that it is cost-effective. This 
helps in making the activity 
feasible and manageable within 
the available resources.

Therefore, the correct option is (1) A, 
B, and C.

82.	 Option (4) is correct.
Explanation: The option that would 
be least effective in attaining the 
desired objective of sensitizing 
students on the conservation of trees 
is:
(4) Visiting a mill to show storage of 
logs of wood.
While visiting a mill to show 
the storage of logs of wood 
might provide students with an 
understanding of the process of 
logging and wood storage, it does 
not directly address the objective of 
sensitizing them on the conservation 
of trees. This activity focuses more 
on the industrial aspect and may 
not create a direct connection to the 
importance of tree conservation.
On the other hand, options (1), 
(2), and (3) are more likely to be 
effective in attaining the objective of 
sensitizing students on conservation:
l	Encouraging students to plant a 

tree and take care of it promotes 
a hands-on approach to tree 
conservation.

l	Organizing a role play on forest 
conservation allows students to 
actively engage in the topic and 
understand the importance of 
preserving trees.

l	Telling the story of the 'Chipko 
Movement' and asking questions 
helps students learn about real-
life instances of tree conservation 
and encourages them to think 
critically about the subject.

Therefore, option (4) would be 
the least effective in achieving the 
desired objective of sensitizing 
students on tree conservation.

83.	 Option (3) is correct.
Explanation: The student-centered 
approaches in teaching-learning of 
EVS (Environmental Studies) from 
the given options are C.
Integrated approach: An integrated 
approach involves integrating 
different subjects or topics within 
the EVS curriculum. It focuses on 
the interconnectedness of various 
environmental issues, encouraging 
students to explore and understand 
the relationships between different 
aspects of the environment. This 
approach promotes active learning, 
critical thinking, and a holistic 
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understanding of environmental 
concepts.
And option D is Process-oriented 
approach:
A process-oriented approach 
emphasizes the process of learning 
rather than just the final outcome. 
It focuses on engaging students in 
active exploration, investigation, 
and inquiry-based activities. This 
approach encourages students to 
ask questions, seek answers, and 
engage in hands-on experiences to 
develop a deep understanding of 
the concepts and processes related 
to the environment.
Therefore, the correct option is (3) C 
and D.

84.	 Option (4) is correct.
Explanation: Values are an integral 
part of our behavioral system and 
are associated with both affective 
(emotional) and cognitive (thinking) 
aspects. They encompass our beliefs, 
principles, and ideals that guide our 
actions and choices. Affective values 
are related to emotions, attitudes, 
and feelings, while cognitive values 
involve our thoughts, knowledge, 
and understanding of what is 
right and wrong, desirable and 
undesirable. Together, affective and 
cognitive values shape our behavior 
and decision-making processes, 
influencing how we interact with 
others and the world around us.
The correct option is option (4) 
Affective and cognitive both.

85.	 Option (1) is correct.
Explanation: The nature of EVS 
(Environmental Studies) can be best 
described as:
(1)	 A, B, and C
A.	 It integrates several 

disciplines: EVS is an 
interdisciplinary subject that 
draws knowledge and concepts 
from various disciplines such 
as science, social studies, 
geography, biology, ecology, 
and more. It explores the 
interconnectedness of the 
environment, society, and 
human beings, integrating 
knowledge from different 
fields.

B.	 It is child-centered: 
EVS emphasizes the active 
involvement and participation 
of children in the learning 
process. It focuses on the 
interests, experiences, and 
perspectives of the learners, 
allowing them to engage 
in meaningful and relevant 
experiences related to their 
environment.

C.	 It is experiential: EVS 
promotes experiential 
learning, where students 
learn by engaging in hands-
on activities, field trips, 

observations, experiments, 
and real-life experiences. It 
encourages students to explore 
their environment, conduct 
investigations, and make 
connections between their 
learning and the real world.

Therefore, the correct option is (1) A, 
B, and C.

86.	 Option (2) is correct.
Explanation: From the words 
given below, the three options that 
describe 'Environment' are:
A.	 Flora and fauna: This option 

relates to the living components 
of the environment, including 
plants (flora) and animals 
(fauna).

B.	 Biotic and Abiotic: This 
option refers to the components 
of the environment categorized 
as either biotic (living 
organisms) or abiotic (non-
living factors such as air, water, 
soil, etc.).

C.	 Social and Cultural: This 
option pertains to the human 
aspects of the environment, 
including social interactions, 
cultural practices, and their 
influence on the environment.

Therefore, the correct option is (2) A, 
B, and C.

87.	 Option (3) is correct.
Explanation: The correct option is: 
(3) going beyond the textbooks.
Linking classroom experiences 
with real-life experiences outside 
the classroom in the EVS teaching-
learning process involves going 
beyond the reliance solely on 
textbooks. It implies incorporating 
real-world examples, situations, and 
experiences into the learning process, 
which may extend beyond the 
content covered in textbooks. This 
approach helps students connect 
what they learn in the classroom 
to the world around them, making 
the learning experience more 
meaningful, relevant, and applicable 
to their daily lives. It encourages 
critical thinking, problem-solving, 
and a deeper understanding of 
environmental concepts beyond the 
limited scope of the curriculum or 
specific grade level.

88.	 Option (1) is correct.
Explanation: The aim of including 
"Survey and write" in some chapters 
of the EVS (Environmental Studies) 
textbook for grade 5 is: (1) giving 
opportunities to students to explore 
and learn.
The inclusion of "Survey and write" 
activities in the textbook aims to 
provide students with opportunities 
to explore the topics further, 
conduct surveys or investigations, 
and actively engage in the learning 
process. Through these activities, 

students are encouraged to gather 
information, analyze data, and write 
about their findings or observations. 
This approach promotes active 
learning, critical thinking, and 
a deeper understanding of the 
subject matter by involving 
students in hands-on experiences 
and encouraging them to actively 
participate in the learning process.

89.	 Option (4) is correct.
Explanation: Among the given 
options, an effective strategy of 
EVS (Environmental Studies) is: (4) 
Demonstration
While each strategy has its merits, 
a demonstration can be an effective 
strategy in EVS as it allows students 
to observe and experience real-life 
examples or processes related to 
environmental concepts. Through 
a demonstration, the teacher can 
visually and practically showcase 
the topic, such as demonstrating a 
scientific experiment, showing the 
effects of pollution, or explaining 
the functioning of a natural 
ecosystem. This hands-on approach 
helps students to better understand 
complex concepts, engage their 
senses, and make connections 
between theoretical knowledge and 
practical applications.
Other strategies like practical 
activities, role plays, and lectures 
also have their own value in the 
EVS teaching-learning process, 
but a demonstration is particularly 
effective in providing a tangible 
and visual representation of 
environmental phenomena, making 
it easier for students to grasp and 
retain the information.

90.	 Option (4) is correct.
Explanation: The approach 
of teaching-learning of EVS 
(Environmental Studies) that uses 
different skills to learn new things 
is: (4) Activity Approach
The activity approach in EVS 
involves engaging students in hands-
on activities, experiments, field trips, 
and practical experiences to learn 
new concepts and acquire skills. 
This approach emphasizes active 
participation and involvement of 
students in the learning process. By 
actively engaging in various activities, 
students develop multiple skills such 
as observation, experimentation, 
data collection and analysis, critical 
thinking, problem-solving, communi-
cation, and collaboration. These 
skills are essential for understanding 
and exploring environmental 
concepts, as well as for developing a 
holistic understanding of the inter-
relationships between different 
aspects of the environment.
While the other approaches men-
tioned (conceptual approach, process 
approach, and integrated approach) 
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also have their own significance in 
EVS teaching-learning, the activity 
approach specifically emphasizes 
the use of different skills through 
hands-on activities to enhance the 
learning experience and foster a 
deeper understanding of the subject.

Language: English
91.	 Option (1) is correct.

Explanation: The world is facing 
the biggest health threat due to (3) 
climate change.
According to the passage, climate 
change is referred to as the single 
biggest health threat facing humanity. 
The World Health Organization 
(WHO) has identified climate change 
as a significant challenge, with rising 
temperatures, extreme weather 
events, & the loss of biodiversity 
impacting human health. The passage 
highlights the growing number 
of extremely hot days, the health 
impacts of heatwaves, the risks of 
infectious diseases and malnutrition, 
and the effects of climate-related 
disasters on mental health. Therefore, 
climate change is identified as the 
primary factor contributing to the 
biggest health threat in the world.

92.	 Option (2) is correct.
Explanation: According to the 
passage, according to the World 
Economic Forum, extreme heat 
waves will (2) lead to a huge loss of 
life.
The passage mentions that extreme 
heat waves are becoming more 
common, with their health impacts 
being tremendous. It provides an 
example of searing heat sweeping 
across Canada and North America 
in 2021, claiming over 500 lives. 
Additionally, the World Economic 
Forum estimates 250,000 annual 
losses of life worldwide from 2030, 
with intensifying exposure to heat, 
infectious diseases, and malnutrition 
caused by climate change. Therefore, 
the passage indicates that extreme 
heat waves will result in a significant 
loss of life.

93.	 Option (3) is correct.
Explanation: According to the 
passage, air pollution, which 
annually claims millions of lives, is 
mainly caused by (3) combustion of 
fossil fuels.
The passage states that air pollution 
is caused by the combustion of 
fossil fuels like coal and diesel. It 
mentions that these fuels contribute 
to air quality decline, leading to 
respiratory diseases and impacting 
millions of people worldwide, 
including those struggling with 
asthma. Additionally, the passage 
highlights that the combustion of 
fossil fuels is also a leading factor of 
global warming. Therefore, based on 

the information provided, the main 
cause of air pollution mentioned in 
the passage is the combustion of 
fossil fuels.

94.	 Option (1) is correct.
Explanation: It is mentioned in 
passage 1 that, 'The number of 
extremely hot days worldwide–
when the temperature breaches 
50°C– has doubled since the 1980s.' 
Hence, statement (1) which states 
that the number of extremely hot 
days have trebled, is not correct.

95.	 Option (3) is correct.
Explanation: The correct answer is: 
(3) Both A and B are true.
According to the passage, intense 
exposure to heat can cause 
malnutrition. The World Economic 
Forum estimates annual losses 
of life worldwide from 2030 due 
to intensifying exposure to heat, 
infectious diseases, and malnutrition 
caused by climate change.
The passage also suggests that 
adopting a plant-based diet is one of 
the prescriptions to mitigate climate 
impacts on health. It is mentioned 
that experts emphasize personal 
changes like adopting a plant-based 
diet as a way to reduce climate 
effects.
Therefore, both statements A and B 
are true based on the information 
provided in the passage.

96.	 Option (3) is correct.
Explanation: The word 
"tremendous" in paragraph 1 means 
the same as: (3) ‘huge’
The word "tremendous" is used 
to describe the health impacts 
of extreme heatwaves caused by 
climate change. It signifies that 
the health impacts are significant, 
substantial, or immense. In the 
given options, "huge" best captures 
the meaning of "tremendous" in this 
context.

97.	 Option (2) is correct.
Explanation: The word opposite 
in meaning to the word "experts" 
as used in paragraph 3 is: (2) 
laymen. The word "experts" refers 
to individuals who have specialized 
knowledge, skills, and experience 
in a particular field. They are 
considered knowledgeable and 
authoritative. In contrast, "laymen" 
refers to people who do not have 
specialized knowledge or expertise in 
a specific field. They are considered 
non-experts or individuals without 
professional qualifications in that 
particular area. Therefore, "laymen" 
is the opposite in meaning to 
"experts" in this context.

98.	 Option (4) is correct.
Explanation: The word "extreme" 
in paragraph 2, line 2 is an: (4) 
Adjective

In the given context, "extreme" 
describes the nature or quality of 
the health impacts caused by climate 
change. It modifies the noun "health 
impacts" and provides information 
about the degree or intensity of 
those impacts. As an adjective, it 
describes and qualifies a noun, 
which is the function it serves in this 
sentence.

99.	 Option (4) is correct.
Explanation: The word "respiratory" 
in the phrase "respiratory diseases" 
in paragraph 2 is used as an: (4) 
Adjective
In the given context, "respiratory" 
describes the type of diseases that 
impact individuals. It modifies 
the noun "diseases" and provides 
information about the nature or 
characteristic of those diseases. As 
an adjective, it qualifies or describes 
a noun, which is the function it 
serves in this sentence.

100.	 Option (3) is correct.
Explanation: According to the 
poem, Winter is called the king of 
showmen because it: (3) creates 
many delightful figures.
The lines "Turning tree trumps into 
snow men" and "And spreading 
sugar over lakes" suggest that 
Winter transforms ordinary objects 
into delightful figures, such as 
snowmen and frosted landscapes. 
Therefore, Winter is described as the 
king of showmen because it brings 
about these creative and visually 
appealing transformations.

101.	 Option (2) is correct.
Explanation: The activity mentioned 
in the poem is: (2) People catching 
snowflakes on tongues
The line "That's the season to be 
young, Catching snowflakes on your 
tongue!" suggests that one of the 
activities during winter is catching 
snowflakes on one's tongue.

102.	 Option (3) is correct.
Explanation: The image of "stumps 
turning into snowmen" appeals to 
our sense of: (3) sight.
The image evokes a visual 
representation of tree stumps being 
transformed into snowmen, which is 
a visual perception or sense.

103.	 Option (3) is correct.
Explanation: The streets look slushy 
when (3) the snow starts melting.
In the poem, it is mentioned that 
snow is snowy when it's snowing, 
but it becomes slushy when it's 
going. This implies that the streets 
look slushy when the snow starts 
melting.

104.	 Option (3) is correct.
Explanation: The figure of speech 
used in the line "winter is the king 
of showmen" is: (3) Personification.
Personification is a figure of speech 
in which an inanimate object or 
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abstract concept is given human 
qualities or attributes. In this line, 
winter is personified as a king, 
emphasizing its grandeur and ability 
to captivate and entertain.

105.	 Option (3) is correct.
Explanation: The literary device 
used in "spreading sugar" in line 
number 4 is: (3) Alliteration.
Alliteration is the repetition of 
consonant sounds at the beginning 
of neighboring words. In this line, 
the repetition of the "s" sound 
in "spreading sugar" creates an 
alliterative effect, adding emphasis 
and musicality to the line.

106.	 Option (1) is correct.
Explanation: The statement "a child's 
brain contains special language 
learning mechanisms at birth" 
is attributed to Noam Chomsky. 
Therefore, the correct answer is 
(1) Chomsky. Noam Chomsky is a 
renowned linguist who proposed 
the theory of Universal Grammar, 
which suggests that humans have 
an innate ability to acquire language 
and that the brain is pre-wired 
with specific language learning 
mechanisms.

107.	 Option (1) is correct.
Explanation: When the teacher refers 
to the rules governing the structure 
and sequence of speech sounds in 
their classes, they are emphasizing 
on (1) Phonology. Phonology is the 
branch of linguistics that deals with 
the study of the sounds of a language 
and their systematic organization, 
including phonemes, phonological 
rules, and phonological patterns. 
It focuses on the sound patterns 
and phonetic properties of speech 
sounds in a particular language.

108.	 Option (3) is correct.
Explanation: This statement is 
directly associated with (3) Piaget. 
Jean Piaget was a Swiss psychologist 
known for his theory of cognitive 
development. According to Piaget, 
language development is just one 
aspect of a child's overall intellectual 
development, which encompasses 
various cognitive processes such 
as perception, memory, reasoning, 
and problem-solving. Piaget's theory 
emphasizes the interaction between 
a child's biological maturation and 
their experiences in the environment, 
highlighting the holistic nature of 
intellectual development.

109.	 Option (2) is correct.
Explanation: The correct sequence 
while using the imitation method is: 
(2) Perception—Imitation—Drill—
Feedback
In the imitation method, the 
sequence starts with perceiving the 
target model or example, followed by 

attempting to imitate or reproduce 
the target, then practicing through 
drill exercises, and finally receiving 
feedback on the performance. This 
sequence allows for observation, 
practice, and feedback to enhance 
learning and improve skills.

110.	 Option (2) is correct.
Explanation: Speaking is primarily 
the function of the lingual sense or 
the sense of language and speech. It 
involves the production of sounds 
and the use of oral communication. 
The lingual sense encompasses the 
ability to perceive, articulate, and 
comprehend speech and language. 
While the other senses such as 
visual, auditory, and tactile senses 
contribute to various aspects of 
communication, the lingual sense 
specifically relates to the production 
and expression of speech. Therefore, 
option (2) Lingual sense is the most 
appropriate answer.

111.	 Option (3) is correct.
Explanation: The concept of 
Universal Grammar is associated 
with Noam Chomsky. Chomsky 
proposed the idea of Universal 
Grammar as a theory that suggests 
that all humans are born with an 
innate ability to acquire language. 
According to Chomsky, there are 
universal linguistic principles 
and structures that underlie all 
languages, and these principles are 
hard-wired into the human brain. 
Universal Grammar provides a 
framework for understanding how 
children acquire language and 
why certain language patterns are 
common across different languages. 
Therefore, the correct answer is 
option (3) Chomsky.

112.	 Option (3) is correct.
Explanation: In the given scenario, 
where the teacher is focusing on 
phonemes and different structures 
to be mastered by the learners, the 
teacher is likely influenced by the 
Structural Approach.
The Structural Approach to 
language learning emphasizes 
the mastery of phonemes (speech 
sounds) and the grammatical 
structures of a language. It focuses 
on teaching learners the underlying 
structure of the language through 
explicit instruction and practice. The 
goal is to help learners understand 
and produce sentences that follow 
the rules and patterns of the target 
language.
The other options mentioned - 
Functional Approach, Cognitive 
Approach, and Lexical Approach 
- also have their own focuses and 
methodologies in language teaching, 
but they may not be directly 

related to the explicit emphasis 
on phonemes and structures as 
described in the scenario. Therefore, 
the most appropriate answer is 
option (3) Structural Approach.

113.	 Option (1) is correct.
Explanation: When children 
transition from using word-gesture 
combinations to producing two-
word utterances like "mommy shoe," 
"go car," "more cookies," etc., it is an 
example of Telegraphic speech.
Telegraphic speech refers to a stage 
of language development where 
children begin to combine words 
in a simplified manner, typically 
using only essential words and 
omitting function words (such 
as articles, prepositions, and 
auxiliary verbs) and non-essential 
grammatical markers. The resulting 
utterances resemble telegrams or 
shortened messages, hence the term 
"telegraphic speech."
During this stage, children focus 
on conveying the main content or 
meaning of their message using key 
nouns, verbs, and adjectives while 
disregarding other grammatical 
elements. It is a significant milestone 
in language development that 
occurs after the one-word stage 
but before the acquisition of more 
complex grammatical structures.
Therefore, the correct answer is 
option (1) Telegraphic speech.

114.	 Option (2) is correct.
Explanation: The initiative that 
helps students learn about the 
remarkable unity of most of the 
major Indian languages is the "Ek 
Bharat Shreshtha Bharat" initiative.
Ek Bharat Shreshtha Bharat 
is a program launched by the 
Government of India with the aim 
of promoting cultural integration 
and understanding among the 
states and union territories of India. 
It focuses on fostering a sense of 
unity in diversity by encouraging 
interactions, exchanges, and learning 
opportunities between different 
regions of the country.
Through this initiative, students 
are provided with platforms and 
activities that enable them to 
explore and appreciate the linguistic 
diversity of India. They learn about 
the similarities and commonalities 
in language, culture, traditions, and 
heritage across different states and 
languages. This helps in fostering 
a sense of national unity and 
promoting respect for all Indian 
languages.
Therefore, the correct answer is 
option (2) Ek Bharat Shreshtha 
Bharat.

115.	 Option (1) is correct.
Explanation: The encoder in a 
communication system is responsible 
for converting the information 
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or message into a suitable format 
for transmission. Among the 
options provided, the encoder is 
represented by the "Sender" (option 
1). The sender takes the message 
and transforms it into a format that 
can be transmitted through the 
communication channel to reach the 
receiver.

116.	 Option (1) is correct.
Explanation: The function of 
language involved in the given 
situation, where an individual 
expresses their feelings, emotions, 
and ideas, is the "Expressive" 
function (option 1). The expressive 
function of language focuses on 
personal expression, allowing 
individuals to convey their thoughts, 
experiences, and emotions through 
language. It serves as a means of 
self-expression and communication 
of one's subjective experiences.

117.	 Option (4) is correct.
Explanation: The technique that 
can be used to teach language 
pronunciation is reading aloud. 
Reading aloud helps learners 
practice and improve their 
pronunciation by actively speaking 
the words and sentences in the 
target language.
It allows them to focus on correct 
pronunciation, intonation, and 
rhythm. Additionally, reading 
aloud also helps learners develop 
their listening skills and improve 
their overall fluency in the 
language. While singing songs 
and reciting poems can also 
contribute to pronunciation practice, 
reading aloud specifically targets 
pronunciation skills. Writing stories, 
on the other hand, focuses more on 
developing writing skills rather than 
pronunciation.
So, option (4), writing stories 
cannot help in teaching language 
pronunciation.

118.	 Option (2) is correct.
Explanation: When infants repeat 
consonant-vowel combinations, 
often in long strings such as 
'bababababa' and 'nananananana', 
this is an example of (2) Babbling. 
Babbling is a stage of language 
development in infants where 
they produce repetitive syllables 
using various consonant and vowel 
sounds. It is a precursor to speech 
and occurs around 6 to 9 months 
of age. During the babbling stage, 
infants’ experiment with different 
sounds and begin to develop the 
motor skills necessary for producing 
speech sounds.

119.	 Option (1) is correct.
Explanation: The statement 
"Language learning is simply 
a matter of stimulus-response 
association acquired largely through 
pattern practice, mimicry, and 

memorization" is associated with 
(1) Behaviourist's theory. This 
perspective, often attributed to 
behaviorist psychologists such as 
B.F. Skinner, suggests that language 
acquisition is primarily a result of 
conditioning and reinforcement. 
It emphasizes the importance of 
imitation and repetition in language 
learning, with an emphasis on 
observable behaviors and responses 
to stimuli. According to this theory, 
language is acquired through 
external factors rather than innate 
cognitive abilities or internal mental 
processes.

120.	 Option (4) is correct.
Explanation: The activity that is not 
appropriate for developing reading 
skills is (4) Use of abbreviation. 
Developing reading skills involves 
understanding and interpreting 
written text, and activities like 
reading aloud, scanning a text, and 
reading for inference are directly 
related to improving reading 
comprehension and fluency. 
However, the use of abbreviations 
focuses more on shorthand or 
condensed forms of language, which 
may not contribute significantly to 
the development of reading skills 
in terms of comprehension and 
understanding of full written texts.

Language: Hindi

121.	 fodYi (2) mfpr gSA
O;k[;kµekxZ esa O;fä bPNk iwfrZ esa yxk 
gqvk gSA vr% lcls mi;qä mÙkj fodYi 
bPNk iwfrZ gSA

122.	 fodYi (2) mfpr gSA
O;k[;kµifjPNsn esa dgk x;k gS fd bPNk,¡ 
dHkh iwjh ugha gksrh D;ksafd ,d ds ckn ,d 
ubZ bPNk,¡ tUe ysrh jgrh gSaA vr% lcls 
mi;qä mÙkj fodYi gS ,d ds ckn ,d ubZ 
bPNk,¡ tUe ysrh gSaA

123.	 fodYi (4) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj thou ds fouk'k 
dk dkj.k dke] Øks/k] yksHk vkSj eksg gSaA fn, 
x, fodYiksa esa ls tks fouk'k dk dkj.k ugha 
crk;k x;k gS og larks"k gSA blfy,] lcls 
mi;qä mÙkj fodYi larks"k gSA

124.	 fodYi (4) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj euq"; dk 'k=q 
ykyp gSA Hkkjr ds ½f"k&eqfu;ksa us yksHk 
dks euq"; dk 'k=q dgk gSA blfy,] lcls 
mi;qä mÙkj fodYi ykyp gSA

125.	 fodYi (3) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj dsoy ogh euq"; 
egku cu ldrs gSa tks gj fLFkfr esa larq"V 
jgrs gSaA x|ka'k esa dgk x;k gS fd thou esa 
lQyrk çkIr djus ds fy, larqf"V dks ,d 
vko';d xq.k ekuk tkrk gS vkSj larqf"V ds 

ekxZ ij pydj gh dksbZ egku O;fä cu 
ldrk gSA vr% lcls mi;qä mÙkj fodYi 
gS tks gj fLFkfr esa larq"V jgrs gSaA

126.	 fodYi (2) mfpr gSA
O;k[;kµ^eqfä* dk foykse 'kCn gS (2) 
caèkuµeqfä dk rkRi;Z Lora=rk ;k fdlh 
pht ls eqfä gS] tcfd ca/ku dk rkRi;Z 
fdlh laca/k] çfrca/k ;k lhek ls gSA blfy,] 
lcls mi;qä mÙkj fodYi ckaM gSA

127.	 fodYi (2) mfpr gSA
O;k[;kµlgh mÙkj gS (2) ,sfPNdA

128.	 fodYi (3) mfpr gSA
O;k[;kµlgh mÙkj gSµdeZ/kkj;A
egkiq#"k esa deZ/kkj; lekl gSA ftlesa 
fo'ks"k.k fo'ks"; crk;k tk, og deZ/kkj; 
lekl gksrk gSA

129.	 fodYi (3) mfpr gSA
O;k[;kµlgh mÙkj gSµlPpkA

130.	 fodYi (2) mfpr gSA
O;k[;kµfn, x, x|ka'k ds vk/kkj ij] 
dfork esa mfYyf[kr euq"; dk xq.k 
gSµ'kfDrokuA

131.	 fodYi (1) mfpr gSA
O;k[;kµfn, x, x|ka'k ds vk/kkj ij] 
^iRFkj ikuh cu tkrk gS* okD;ka'k dk vFkZ 
;g gSµvlaHko dks laHko cukukA

132.	 fodYi (2) mfpr gSA
O;k[;kµfn, x, x|ka'k ds vk/kkj ij 
euq"; ds Hkhrj Nqis xq.kksa dh rqyuk dh xbZ 
gSµesganh ds iÙkksa esa Nqih ykyhA

133.	 fodYi (2) mfpr gSA
O;k[;kµfn, x, x|ka'k ds vk/kkj ij] 
lcls mi;qä mÙkj gksxkµ'kkar gks tkrh gSaA

134.	 fodYi (4) mfpr gSA
O;k[;kµfn, x, x|ka'k ds vk/kkj ij] 
lcls mi;qä mÙkj fodYi gSµdeZB gksuk 
gksxkA

135.	 fodYi (2) mfpr gSA
O;k[;kµfn, x, x|ka'k ds vk/kkj ij] 
ç'u dk lcls mi;qä mÙkj gksxkµnhid 
dh ckrhA
bl vuqPNsn esa euq"; ds Hkhrj xq.kksa vkSj 
fNih gqbZ jks'kuh dk mYys[k gS] tks nhid 
vkSj mldh ckrh dk ,d çrhdkRed lanHkZ 
lq>krk gSA

136.	 fodYi (1) mfpr gSA
O;k[;kµ;g dFku ^cPps ds efLr"d esa 
tUe ls gh ,d fo'ks"k Hkk"kk lh[kus dk ra= 
gksrk gS* ukse pkWELdh ls fudVrk ls tqM+k 
gqvk gSA pkWELdh] ,d çeq[k Hkk"kkfon~ vkSj 
laKkukRed oSKkfud] us lkoZHkkSfed O;kdj.k 
dh vo/kkj.kk dk çLrko j[kk] tks crkrk 
gS fd euq"; Hkk"kk vf/kxzg.k dh tUetkr 
{kerk ds lkFk iSnk gksrs gSaA mUgksaus rdZ fn;k 
fd cPpksa ds fnekx esa ,d Hkk"kk vfèkxzg.k 
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midj.k (,y,Mh) gksrk gS] tks mUgsa Hkk"kkbZ 
fl¼karksa vkSj lajpukvksa dk ,d lsV çnku 
djrk gS tks Hkk"kk lh[kus dh lqfoèkk çnku 
djrk gSA

137.	 fodYi (1) mfpr gSA

O;k[;kµçnku fd, x, lanHkZ ds vk/kkj ij] 
f'k{kd laHkor% Hkk"k.k /ofu;ksa dh lajpuk 
vkSj Øe dks fu;af=r djus okys fu;eksa ij 
tksj ns jgk gSA ;g fo"k; /oU;kRedrk ds 
{ks= ds varxZr vkrk gS] tks ekuo Hkk"k.k dh 
HkkSfrd /ofu;ksa dk v/;;u gS] ftlesa muds 
mRiknu] /kkj.kk vkSj /ofud xq.k 'kkfey gSaA 
blfy,] lgh mÙkj gksxk (1) /oU;kRedrkA 
flaVSDl (okD; lajpuk dk v/;;u)] vkÏfr 
foKku ('kCn fuekZ.k dk v/;;u)] vkSj vFkZ 
foyst (,d vlacaf/kr 'kCn) lh/ks Hkk"k.k 
/ofu;ksa dks fu;af=r djus okys fu;eksa ls 
lacaf/kr ugha gSaA

138.	 fodYi (4) mfpr gSA

O;k[;kµ;g dFku lh/ks rkSj ij yso 
ok;xksRLdh ls lacaf/kr gSA ok;xksRLdh ,d 
:lh euksoSKkfud vkSj nk'kZfud Fks ftUgksaus 
cPps ds laKkukRed fodkl esa lkekftd 
vkSj lkaLÏfrd dkjdksa ds egÙo ij tksj 
fn;kA mUgksaus lkekftd&lkaLÏfrd fodkl 
ds fl¼kar dk çLrko j[kk] tks crkrk gS fd 
Hkk"kk vkSj lkekftd laidZ cPps ds ckSf¼d 
fodkl dks vkdkj nsus esa egÙoiw.kZ Hkwfedk 
fuHkkrs gSaA ok;xksRLdh ds vuqlkj] Hkk"kk 
dsoy ,d vyx igyw ugha gS] cfYd cPps 
ds lexz ckSf¼d fodkl dk ,d vfHkUu vax 
gS] D;ksafd ;g fopkj ds fuekZ.k vkSj Kku ds 
vf/kxzg.k esa enn djrh gSA blfy,] lgh 
mÙkj (4) ok;xksRLdh gksxkA

139.	 fodYi (3 vkSj 4) mfpr gSA

O;k[;kµvuqdj.k fof/k ds ç;ksx ds laca/k esa 
lgh Øe gksxkµ
(3) vo/kkj.kkRed fMªy fleqys'ku çfrfØ;k
(4) vo/kkj.kkRed QhMcSd fMªy fleqys'ku
vuqdj.k i¼fr esa] vuqØe esa vke rkSj 
ij vo/kkj.kkRed vH;kl] vuqdj.k vkSj 
çfrfØ;k 'kkfey gksrh gSA lcls igys] 
f'k{kkFkhZ ,d vo/kkj.kkRed vH;kl esa 
layXu gksrk gS] tgk¡ os y{; O;ogkj ;k 
dkS'ky dk fujh{k.k vkSj vuqHko djrs gSaA 
fQj] os ,d vuqdj.k esa layXu gksrs gSa] tgk¡ 
os vius }kjk ns[ks x, O;ogkj ;k dkS'ky 
dh udy djus ;k nksgjkus dk ç;kl djrs 
gSaA var esa] mUgsa QhMcSd çkIr gksrk gS] tks 
muds çn'kZu ds vkèkkj ij ekxZn'kZu] lq/
kkj vkSj lqn`<hdj.k çnku djrk gSA rks] 
lgh vuqØe gksxk (3) vo/kkj.kkRed fMªy 
fleqys'ku QhMcSd] mlds ckn (4) vo/
kkj.kkRed QhMcSd fMªy fleqys'kuA fodYi 
(1) çR;{kn'khZ fleqys'ku QhMcSd fMªy vkSj 
(2) çR;{kn'khZ fleqys'ku fMªy QhMcSd 

vuqdj.k i¼fr ds fof'k"V vuqØe dk 
çfrfuf/kRo ugha djrs gSaA

140.	 fodYi (2) mfpr gSA
O;k[;kµesjh fiNyh çfrfØ;k esa Hkze ds 
fy, [ksn gSA
lgh mÙkj gSµi<+us (cksyus) ds dk;Z esa eq[; 
:i ls Hkk"kkbZ vFkZ 'kkfey gksrk gSA
i<+uk vkSj cksyuk eq[;r% Hkk"kkbZ xfrfof/
k;k¡ gSaA n`'; bafæ; i<+us esa 'kkfey gksrh gS 
D;ksafd ;g gesa fyf[kr ikB dks le>us vkSj 
lalkf/kr djus dh vuqefr nsrh gS] ysfdu 
Hkk"kk dh O;k[;k vkSj le> Hkk"kkbZ bafæ; 
ds ek/;e ls gksrh gSA Jo.k bafæ; i<+us ds 
ctk; cksyh tkus okyh Hkk"kk dks lquus vkSj 
le>us ls vf/kd fudVrk ls lacaf/kr gSA 
Li'kZ dh Hkkouk i<+us ;k cksyus esa lhèks rkSj 
ij 'kkfey ugha gksrh gS] gkyk¡fd dqN ekeyksa 
esa ;g f}rh;d Hkwfedk fuHkk ldrh gS] tSls 
Li'kZ }kjk i<+us ds fy, czsy dk mi;ksx 
djrs le;A

141.	 fodYi (3) mfpr gSA
O;k[;kµlkoZHkkSfed O;kdj.k dh vo/kkj.
kk eq[; :i ls (3) pkWELdh ls tqM+h gSA 
lkoZHkkSfed O;kdj.k ,d çfl¼ Hkk"kkfon~ 
vkSj laKkukRed oSKkfud ukse pkWELdh }
kjk çLrkfor ,d Hkk"kkbZ fl¼kar gSA pkWELdh 
ds vuqlkj] lkoZHkkSfed O;kdj.k ml lgt 
Hkk"kkbZ Kku ;k fl¼karksa dks lanfHkZr djrk 
gS tks lHkh euq";ksa ds ikl gksrs gSa] tks 
mUgsa Hkk"kk gkfly djus vkSj le>us dh 
vuqefr nsrs gSaA pkWELdh dk rdZ gS fd ,d 
lkoZHkkSfed varfuZfgr lajpuk ;k fu;eksa dk 
lewg gS tks lHkh Hkk"kkvksa ds fy, lkekU; 
gS] vkSj ;g lgt Kku cPpksa dks lgtrk 
ls Hkk"kk lh[kus vkSj mRiUu djus esa l{ke 
cukrk gSA ;g vo/kkj.kk ch-,Q- fLduj 
tSls O;ogkjoknh fl¼karksa ds foijhr gS] 
tks i;kZoj.kh; daMh'kfuax ds ek/;e ls 
Hkk"kk lh[kus ij tksj nsrs gSaA fi;kxsV vkSj 
ok;xksRLdh dks laKkukRed fodkl esa muds 
;ksxnku ds fy, tkuk tkrk gS] ysfdu os 
lh/ks rkSj ij lkoZHkkSfed O;kdj.k dh vo/
kkj.kk ls tqM+s ugha gSaA

142.	 fodYi (3) mfpr gSA
O;k[;kµfn, x, ifjn`'; esa f'k{kd 
lajpukRed n`f"Vdks.k ls çHkkfor gksrk gSA
Hkk"kk f'k{k.k dk lajpukRed n`f"Vdks.k Hkk"kk 
lh[kus dh uhao ds :i esa Lojksa (fdlh Hkk"kk 
esa fof'k"V /ofu;k¡) vkSj fofHkUu lajpukvksa 
(O;kdj.k fu;e vkSj okD; iSVuZ) dks le>us 
ds egÙo ij tksj nsrk gSA ;g Hkk"kk esa 
f'k{kkfFkZ;ksa dh lVhdrk vkSj n{krk fodflr 
djus ds fy, Hkk"kk lajpukvksa ds fo'ys"k.k 
vkSj vH;kl ij dsafær gSA Lojksa vkSj 
fofHkUu lajpukvksa ij vf/kd /;ku nsdj] 
f'k{kd Nk=ksa dks Hkk"kk ds rÙoksa vkSj mUgsa 
dSls O;ofLFkr fd;k tkrk gS] bldh vPNh 

le> fodflr djus esa enn djus ds fy, 
lajpukRed n`f"Vdks.k ds fl¼karksa dk ikyu 
dj jgk gSA
dk;kZRed n`f"Vdks.k okLrfod thou ds 
lapkj lanHkks± esa Hkk"kk fl[kkus ij dsafær gS] 
tks lkFkZd lapkj ds fy, Hkk"kk ds dk;kZRed 
mi;ksx ij tksj nsrk gSA laKkukRed 
n`f"Vdks.k Hkk"kk lh[kus esa 'kkfey ekufld 
çfØ;kvksa ij /;ku dsafær djrk gS vkSj 
le>] Le`fr vkSj leL;k&lek/kku ij tksj 
nsrk gSA ysfDldy n`f"Vdks.k Hkk"kk dh dsaæh; 
bdkb;ksa ds :i esa 'kCnkoyh vkSj lgla;kstu 
fl[kkus ij /;ku dsafær djrk gS] lapkj esa 
'kCnksa vkSj Hkk"kk ds fgLlksa ds egÙo ij tksj 
nsrk gSA ;s n`f"Vdks.k fn, x, ifjn`'; esa 
Lojksa vkSj lajpukvksa ij f'k{kd ds tksj ls 
lh/ks rkSj ij lacaf/kr ugha gSaA

143.	 fodYi (1) mfpr gSA
O;k[;kµvkius tks mnkgj.k fn;k gS] ^ek¡ 
twrk] nknh lkFk] eSa]* cdcd ;k cM+cM+kgV 
dk ,d mnkgj.k gSA pkSVj Hkk"kk ds fodkl 
ds çkjafHkd pj.k dks lanfHkZr djrk gS 
ftlesa cPps 'kCnka'kksa ;k ljy 'kCnksa dh 
J`a[kyk cukrs gSa ftudh Li"V O;kdjf.kd 
lajpuk ;k vFkZ ugha gks ldrk gSA bl Lrj 
ij] cPps Hkk"kk ds lkFk ç;ksx dj jgs gSa vkSj 
vius Hkk"k.k mRiknu dkS'ky dk vH;kl dj 
jgs gSaA vkids }kjk crk, x, mnkgj.k Hkk"kk 
ds fodkl ds 'kq#vkrh pj.kksa ds fof'k"V gSa 
tc cPps 'kCnksa dk la;kstu djuk 'kq: dj 
jgs gSa ysfdu vHkh rd O;kdj.k ;k okD; 
lajpuk esa egkjr gkfly ugha dj ik, 
gSaA ;g Hkk"kk vf/kxzg.k dk ,d LokHkkfod 
fgLlk gS vkSj cPps ds Hkk"kk fodkl esa ,d 
egÙoiw.kZ ehy dk iRFkj gSA ;g nks&v{kj 
laf{kIrk{kjksa] dkstksUl (ftldk Lisfu'k esa 
vFkZ gS ^vaMdks"k* vkSj Hkk"kk ds fodkl ls 
vlacaf/kr gS)] ;k jksus ls lacaf/kr ugha gSA

144.	 fodYi (2) mfpr gSA
O;k[;kµlwphc¼ igyksa esa ls] ftldk mís'; 
Nk=ksa dks vf/kdka'k çeq[k Hkkjrh; Hkk"kkvksa 
dh mYys[kuh; ,drk ls ifjfpr djkuk gS] 
og gS ^,d Hkkjr Js"B Hkkjr* igyA
(2) ,d Hkkjr Js"B Hkkjr Hkkjr ljdkj }
kjk lkaLÏfrd ,dhdj.k dks c<+kok nsus vkSj 
Hkkjr dh fofo/k laLÏfr;ksa vkSj Hkk"kkvksa 
ds chp ,drk dh Hkkouk dks c<+kok nsus ds 
mís'; ls 'kq: fd;k x;k ,d dk;ZØe gSA 
bldk mís'; Hkkjr ds fofHkUu jkT;ksa vkSj 
{ks=ksa ds yksxksa dks tksM+uk vkSj mUgsa ,d&nwljs 
dh Hkk"kkvksa] ijaijkvksa vkSj fojklr ds ckjs 
esa tkuus ds fy, çksRlkfgr djuk gSA
;g igy fofHkUu jkT;ksa ds yksxksa ds chp 
ckrphr dks lqfoèkktud cukus ds fy, 
fofHkUu xfrfof/k;ksa] dk;ZØeksa vkSj fofue; 
dk;ZØeksa dk vk;kstu djrh gSA blesa Hkk"kk 
lh[kus ds dk;ZØe] lkaLÏfrd mRlo] dyk 
çn'kZfu;k¡ vkSj lsfeukj 'kkfey gSa] tgk¡ Nk= 
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Hkkjr dh fofo/k Hkk"kkbZ fojklr ds ckjs esa 
tku ldrs gSa vkSj ns'k esa Hkk"kkbZ fofo/krk 
dks js[kkafdr djus okyh ,drk dh xgjh 
le> gkfly dj ldrs gSaA
mfYyf[kr vU; igy] tSls LoPN Hkkjr 
vfHk;ku] loZ f'k{kk vfHk;ku vkSj fMftVy 
Hkkjr vfHk;ku] Øe'k% LoPNrk vkSj 
LoPNrk] lkoZHkkSfed f'k{kk vkSj fMftVy 
l'kfädj.k tSls fofHkUu igyqvksa ij dsafær 
gSa] vkSj fo'ks"k :i ls çeq[k Hkkjrh; Hkk"kkvksa 
dh ,drk dks yf{kr ugha djrs gSaA -

145.	 fodYi (2) mfpr gSA
O;k[;kµlapkj ç.kkfy;ksa ds lanHkZ esa] 
,udksMj lwpuk ;k lans'k dks çlkj.k ds 
fy, mi;qä çk:i esa ifjofrZr djus ds fy, 
ftEesnkj gSA ;g lapkj pSuy ij çlkfjr 
gksus okys lans'k dks rS;kj djrk gSA
blfy,] fn, x, fodYiksa esaµ
(1)	 çs"kdµçs"kd og bdkbZ gS tks lans'k 

cukdj vkSj Hkstdj lapkj 'kq: djrh 
gSA ;g buiqV tkudkjh çnku djrk 
gS ysfdu vko';d :i ls ,UdksfMax 
çfØ;k fu"ikfnr ugha djrk gSA

(2)	 flXuyµflXuy ,UdksMsM lans'k ds 
HkkSfrd çfrfuf/kRo gSa tks lapkj pSuy 
ij çlkfjr gksrs gSaA os tkudkjh dks 
çs"kd ls çkIrdrkZ rd ys tkrs gSa 
ysfdu ,UdksfMax çfØ;k ugha djrs gSaA

(3)	 pSuyµpSuy ml ek/;e dks lanfHkZr 
djrk gS ftlds ek/;e ls ,UdksMsM 
lans'k çlkfjr gksrk gS] tSls ok;MZ 
;k ok;jysl dusD'kuA ;g ,UdksfMax 
çfØ;k fu"ikfnr ugha djrk gS-

(4)	 fjlhojµfjlhoj og bdkbZ gS tks 
çsf"kr lans'k çkIr djrk gS vkSj ewy 
tkudkjh çkIr djus ds fy, bls 
fMdksM djrk gSA ;g ,UdksfMax çfØ;k 
fu"ikfnr ugha djrk gSA

fn, x, fodYiksa ds vk/kkj ij] ,udksMj 
dk Li"V :i ls mYys[k ugha fd;k x;k gSA 
gkyk¡fd] ;g vkerkSj ij lapkj ç.kkyh esa 
çs"kd vkSj pSuy ds chp fLFkr gksrk gSA

146.	 fodYi (1) mfpr gSA
O;k[;kµnh xbZ fLFkfr esa] Hkk"kk dk tks dk;Z 
'kkfey gS og gS (1) vfHkO;fäA
Hkk"kk dk vfHkO;fä dk;Z O;fä dh Hkkoukvksa] 
Hkkoukvksa] fopkjksa vkSj thou ds vuqHkoksa dks 
O;ä djus vkSj O;ä djus dh {kerk ls 
lacaf/kr gSA blesa Hkk"kk dks vkRe&vfHkO;fä 
ds lk/ku ds :i esa mi;ksx djuk 'kkfey 
gS] ftlls O;fä;ksa dks viuh vkarfjd 
fLFkfr dks laçsf"kr djus vkSj vius O;fäxr 

n`f"Vdks.k dks nwljksa ds lkFk lk>k djus dh 
vuqefr feyrh gSA
fn, x, lanHkZ esa] O;fä Lo;a dks vfHkO;ä 
djus] viuh Hkkoukvksa] Hkkoukvksa] fopkjksa 
vkSj thou ds vuqHkoksa dks laçsf"kr djus 
ds fy, Hkk"kk dk mi;ksx dj jgs gSaA Hkk"kk 
dk ;g dk;Z O;fä;ksa dks viuh vkarfjd 
nqfu;k dks Li"V djus vkSj HkkoukRed vkSj 
O;fäxr Lrj ij nwljksa ds lkFk tqM+us esa 
l{ke cukrk gSA

147.	 fodYi (4) mfpr gSA
O;k[;kµfn, x, fodYiksa esa ls og rduhd 
ftldk mi;ksx Hkk"kk dk mPpkj.k fl[kkus ds 
fy, ugha fd;k tk ldrk og gS (4) dgkuh 
fy[kukA
xkuk xkuk (1)] dfork ikB (2)] vkSj lLoj 
ikB (3) lHkh çHkkoh rduhdsa gSa ftudk 
mi;ksx Hkk"kk mPpkj.k fl[kkus ds fy, 
fd;k tk ldrk gSA bu rduhdksa esa y;] 
Loj&'kSyh vkSj 'kCnksa vkSj okD;ka'kksa ds lgh 
mPpkj.k ij /;ku dsafær djuk 'kkfey gSA
gkyk¡fd] dgkuh ys[ku (4) esa lh/ks rkSj ij 
Hkk"kk ;k mPpkj.k dk ekSf[kd mRiknu 'kkfey 
ugha gSA dgkuh ys[ku eq[; :i ls ys[ku 
dkS'ky] jpukRedrk fodflr djus vkSj 
fopkjksa dks ,d lqlaxr dFkk esa O;ofLFkr 
djus ij dsafær gSA gkyk¡fd ;g vçR;{k 
:i ls Hkk"kk dkS'ky vkSj lexz n{krk esa 
lq/kkj dj ldrk gS] ysfdu ;g fo'ks"k :i 
ls mPpkj.k fl[kkus ds fy, yf{kr ugha gSA

148.	 fodYi (2) mfpr gSA
O;k[;kµvkius tks mnkgj.k fn;k gS] ftlesa 
f'k'kq O;atu [kqn dks ^ckck* ;k ^uk uk uk* 
tSls Lojksa ds feJ.k ds yacs Lojksa esa O;ä 
djrs gSa] vDlj f'k'kqvksa esa Hkk"kk ds fodkl 
ds ccykus ds pj.k ls tqM+k gksrk gSA ccykuk 
yxHkx 6 ls 9 eghus dh mez ds f'k'kqvksa esa 
ns[kk tkus okyk ,d çkÏfrd vkSj lkekU; 
O;ogkj gS] tgk¡ os O;atu&Loj la;kstu okys 
nksgjko okys v{kjksa dk mRiknu djrs gSaA
vkids }kjk çnku fd, x, fodYiksa dks 
ns[krs gq,] lcls çklafxd fodYi gksxkA
(2)	 ccykuk
gkyk¡fd] ;g /;ku j[kuk egÙoiw.kZ gS fd 
ccykuk fofHkUu xfrfof/k;ksa ds nkSjku 
gks ldrk gS vkSj t:jh ugha fd dsoy 
^cdcd* ;k ^jksus* ds nkSjku gh gksA f'k'kq 
[ksyrs le;] /ofu [kkstrs le; ;k nwljksa 
ds lkFk ckrphr djrs le; ccyk ldrs gSaA 
ccykuk Hkk"k.k fodkl ds fy, ,d egÙoiw.kZ 
vxznwr ds :i esa dk;Z djrk gS D;ksafd f'k'kq 
/ofu;ksa ds lkFk ç;ksx djrs gSa vkSj fofHkUu 
Loj mRiUu djuk lh[krs gSaA

149.	 fodYi (1) mfpr gSA
O;k[;kµdFku ^Hkk"kk lh[kuk vke rkSj ij 
mÙkstuk&çfrfØ;k laca/k dk ekeyk gS ftls 
ekWMy vH;kl] vuqdj.k vkSj ;kn j[kus ds 
ek/;e ls gkfly fd;k tkrk gS* lacaf/kr gSµ
(1)	 O;ogkj fl¼karµO;ogkj fl¼kar esa] 

Hkk"kk lh[kus dks mÙkstuk&çfrfØ;k 
laca/kksa ds ifj.kkeLo:i ns[kk tkrk 
gSA bl ifjçs{; ds vuqlkj] Hkk"kk 
vfèkxzg.k lqn`<+hdj.k vkSj daMh'kfuax 
dh çfØ;k ds ek/;e ls gksrk gS] tgk¡ 
f'k{kkFkhZ Hkk"kk ekWMy dk vuqdj.k vkSj 
vH;kl djrs gSa vkSj lgh çfrfØ;kvksa 
dks ;kn djrs gSaA ;g n`f"Vdks.k Hkk"kk 
lh[kus vkSj O;ogkj dks vkdkj nsus esa 
i;kZoj.kh; mÙkstukvksa vkSj lqn`<+hdj.k 
tSls ckgjh dkjdksa ds egÙo ij tÛksj 
nsrk gSA

mfYyf[kr vU; fodYi] (2) çÏfroknh 
n`f"Vdks.k] (3) laKkukRed fl¼kar] vkSj 
(4) jpukoknh fl¼kar] dFku ds lkFk bruh 
fudVrk ls esy ugha [kkrs gSaA çÏfroknh 
n`f"Vdks.k okLrfod thou ds lanHkks± esa 
lkFkZd Hkk"kk buiqV ds foltZu vkSj çn'kZu 
ij tÛksj nsrk gSA laKkukRed fl¼kar Hkk"kk 
lh[kus esa Le`fr] /;ku vkSj leL;k&lekèkku 
tSlh ekufld çfØ;kvksa ij /;ku dsafær 
djrk gSA jpukoknh fl¼kar f'k{kkFkhZ dh 
Lok;Ùkrk] lfØ; tqM+ko vkSj lkekftd 
laidZ ds ek/;e ls Kku ds fuekZ.k ij tÛksj 
nsrs gSaA

150.	 fodYi (4) mfpr gSA
O;k[;kµog xfrfof/k tks i<+us ds dkS'ky 
fodflr djus ds fy, mi;qä ugha gSµ
(4)	 laf{kIrhdj.k dk ç;ksxµlaf{kIrhdj.k 
dk mi;ksx i<+us ds dkS'ky ds fodkl esa lhèks 
;ksxnku ugha nsrk gSA laf{kIrhdj.k 'kCnksa ;k 
okD;ka'kksa ds laf{kIr :i gSa vkSj vkerkSj 
ij laf{kIrrk vkSj lqfo/kk ds fy, fyf[kr 
;k ekSf[kd Hkk"kk esa mi;ksx fd, tkrs gSaA 
gkyk¡fd laf{kIrk{kjksa dks le>us vkSj O;k[;k 
djus ds fy, dqN i<+us dh vko';drk gks 
ldrh gS] ysfdu ;g dksbZ eq[; i<+us dk 
dkS'ky ugha gSA i<+us ds dkS'ky dks fodflr 
djus esa vke rkSj ij loZj jhfMax (fof'k"V 
tkudkjh ds fy, LdSfuax)] ckjhdh ls i<+uk 
(fdlh ikB ds fooj.k dk fo'ys"k.k djuk 
vkSj le>uk)] vkSj fu"d"kZ fudkyus ds fy, 
i<+uk (ikB esa fufgr tkudkjh dks le>uk 
vkSj fu"d"kZ fudkyuk) tSlh xfrfof/k;k¡ 
'kkfey gksrh gSaA


